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1 General Awareness 15 questions, 4 mark for correct ans, no negative marking

Q 1 Which of the following is a Harappan port?
fafaRad & 9 D1F-91 U6 58U &I S8 6 ?

Ops: A. Alexandria
Ryep-afar

B. Lothal
NIV

C. Mahasthangarh
HelR(He

D. Nagapattanam
ANTUSH

Q 2 The British established its first commercial factory at

ST A 3T UgHT ARG BRI Hal RITfud faar ?

Ops: A Surat in 1610

1610, Td

B. Amargaon in 1611
1611, WA

C. Hoogly in 1626
1626, giTail

D. Masulipatnam in 1611

1611, AYdiUgH

Q 3 What were the symbols of Indian Nationalism?

YR TP T fdies T T 2

Ops: A Charkha-Khadi
I - Grdl
B. Ashok Chakra- Talwar
3N Tsh - TAAR
C. Lathi-Ainak
3! - T
D. None of the above

SWRIe H ¥ BIs T8l 2



Q 4 Which of these statements is TRUE with regard to the poem "Amar Sonar Bangla' penned by
Rabindranath Tagore?

i1y TR gRT o) 72 pfadT STIRYFR siva ' & ey & Fafiffa § o a1 sy 981 2 2

Ops: A. It was Tagore's first ever poem.
g SR Pt Ut widar i
B. This poem later was adopted by Bangladesh as its national anthem.

S HIAdl Bl §1a H TR = (U AP & FY H U

C. This poem fetched Tagore the Nobel Prize.
39 HIAdT & forg SR & Aied REGR faar |

D. The poem was a school prayer at Shantiniketan.

Ug Hiddl AidHehe H Teb Tpel bl YT i

Q 5 The membership of a Member of Parliament ceases after a consecutive absence for how many days?

frafafed 3 9 fhda 37 &) TaR Suffd & 918 I9e & e &1 Jeadl JaT B ol @ ?

Ops: A. 50 days
50 f&-

B. 30 days
30 e

C. 60 days
60 fe

D. 90 days
90 fa=

Q 6 In which year a National Emergency was declared on the ground of 'internal disturbance'?

ford ay 7 '3M1dRes Iuga & SMYR W Teb AP HTuTdebTel ¥ fobam mam ot 2

Ops: A. 1971

B. 1965
C. 1999
D. 1975



Q 7 Which is the only planet in the Solar System which is not named after a Roman mythological deity?

AR HSd BT UHHE T8 I IT § g1 A8 J7- URIfOIe 9 & 11 UR -8l § ?

Ops: A. Mercury

qY
B. Earth
g
C. Neptune
D. Uranus
Q 8 Which of the following is NOT correctly matched?
fafafed o § @ 98 v § gafea 98 § 2
Ops: A. Atomic Minerals Directorate for Exploration and Research-Mumbai
B. Nuclear Fuel Complex - Hyderabad
TG e TRIR - gerEe
C. Nuclear Power Corporation of India Ltd. -Mumbai

YRA AMNBT SHoll HIRURRME [AHCS - THs
D. Heavy Water Board - Mumbai
TS 9 a8 - g%

Q 9 Which of the following rocks is not "acidic rock"?

Fraffad § § F & ggH sy g TR R 2

Ops: A. Granite

B. Rhyolite

NRIKIET

C. Dolerite

CINIRES]

D. Pitchstone
fUeRe =



Q 10 Recently, BMP - T Terminator was in the news. It is related to -

o 8 § dteaht-& efiffer o=i & Ut gg Sefa & -

Ops: A. Ballistic Missile system

dfies firarse gomed
B. Armored fighting vehicle
gxoReg Sl dle-
C. Assault Rifle
3T ASHd
D. Frag Grenade
PP

Q 11 Which of the following is an anti-submarine warfare aircraft of the Indian Navy?

g & ¥ o YR TR &1 U g A g fame | 2

Ops: A. Dornier 228
SR 228

B. TH - 57
&w= - 57

C. UAV Heron
RUCIRRE

D. Boeing P-81

SIS P-8I

Q 12 Recently , Indian Air Force test-fired Extended - Range brahmos Missile from which fighter Aircraft?
g g1 ¥, YR arg 911 A foy dere faur ¥ fardiRa-¥st s fiargd &1 wigm fasar

Ops: A. Sukhoi-30
s - 30
B. Rafael
N

C. HF - 24 Marut
TIUD - 24 AR

D. Mirage - 2000
fERTST - 2000




Q 13 Dicommissioned Indian naval ship (INS) Khukri planned to be converted into a museum in which
place

I Row T et SRR TR (INS) T B T e i TR e o A 2 o
T fRa g

Ops: A Vishakhapatnam
[CRURCIRGEES]

B. Diu

dla

C. Port Blair
¢ &R

D. Goa
mar

Q 14 What is the name of sixth submarine of the P75 project of the Indian Navy which was launched by at
Mazgaon Dock Ltd?
YRATG G &1 P75 GRASHT 3 861 UAgs! &I 19 &1 § o 7gRTa 8l fafties gR ar fasar
T 47 ?

Ops: A. INS Kalvari
ST Haas]
B. INS Khanderi
ST W
C. INS Karanj
3MTETTH Bl
D. INS Vagsheer

JRUATY TR



Q 15 Which of the following plays vital role in photosynthesis?
frafefed & @ &N e Ixave § gyl Yfie @ g 2

Ops: A. Chloroplast

AGASEES

B. Centrosome
dRP P

C. Tonoplast
GIGNEED

D. Nematoblast

LD RD

2 English 15 questions, 4 mark for correct ans, no negative marking

Q 1 Select the most appropriate meaning of the given idiom. Like a cakewalk

Ops: A. Smooth surface
B. Pleasant experience
C. Easy task
D. Active

Q 2 Select the most appropriate meaning of the given idiom. A green horn

Ops: A. Uneducated person
B. Inexperienced person
C. Clever person

D. Skilled person

Q 3 Choose the correct meaning of the given idiom. Bag and baggage

Ops: A. With burden
B. Without any aim
C. Without happiness

D. With all of one's possessions



Q 4 Select the most appropriate meaning of the given idiom. Break the ice

Ops: A. Make people meeting first time feel uncomfortable
B. Make people meeting first time feel sad
C. Make people meeting first time feel more detached
D. Make people meeting first time feel more comfortable

Q 5 Select the most appropriate meaning of the given idiom. To smell a rat

Ops: A. To have reason to know the presence of a rat
B. To have reason to suspect
C. To know the smell of a rat
D. To learn the smell of a rat

Q 6 Select the most appropriate meaning of the given idiom. Fair and square

Ops: A. Honestly
B. Fair-skinned
C. Being vague
D. Good looking

Q 7 Select the option that can be used as a one-word substitute for the given group of words.
A piece of a living tissue or plant that is transplanted surgically

Ops: A Gratis
B. Gourmet
C. Gracious
D. Graft



Q 8 Select the option that can be used as a one-word substitute for the given group of words.
Plants of a particular region

Ops: A. Flora

B. Flinch
C. Fauna
D. Flotsam

Q 9 Select the option that can be used as a one-word substitute for the given group of words.
One who does something not professionally but for pleasure

Ops: A. Professional
B. Mature
C. Immature
D. Amateur

Q 10 Select the option that can be used as a one-word substitute for the given group of words.
A place where coins and medals are made.

Ops: A. Office

B. Mint
C. Mine
D. Barn

Q 11 Select the INCORRECTLY spelt word.

Ops: A Finery
B. Hiest
C. Cringe
D. Defer



Q 12 Select the INCORRECTLY spelt word.

Ops: A.
B.
C.

D.

Peircing
Sleek
Pie

Itch

Q 13 Choose the incorrectly spelt word.

Ops: A
B.
C.
D.

Slaughter
Cropping
Traffickng

Tyrannical

Q 14 Select the INCORRECTLY spelt word

Ops: A
B.
C.
D.

Q 15 Choose the INCORRECTLY spelt word.

Ops: A.
B.
C.
D.

Cemetery
Accommodate
Intruder

Necessary

Texture
Slege
Savoury

Tamper

3 Mathematics

20 questions, 4 mark for correct ans, no negative marking

10



Q 1 A function f from the set of natural numbers to integers defined by

-

-l ‘when nis odd
f(n) = 4 i is
when n 1s even

i
e o f Uipiae Sersl & I § Yuiial & T IR 59 UHR TR § Bt
%t ;
fny=4 2 " 09 HeAd [ ©
A PE e
[ 2
Ops: A. one-one but not onto

Uheh! TReq MBI gl

B. onto but not one-one
3TeBTEDh TR Ul Te!

C. one-one and onto both
Tha! 3R 3TDIEh I

D. neither one-one nor onto
0 ThD! 3R A 8 SHBIeH

Q2 Let Zy and Z, be two roots of the equation 2+ az + b = 0, z being complex. Further, assume that
the origin, z and z, form an equilateral triangle. Then,
AT GHBR 22 + az + b = 0 B A el 7, 3R z, &, 61 2 AW &1 HH il 2, 3R z, Teb GHaTg
Ays 910 §, a9

Ops: A. a=b
B. a=2b
C. (a’=3b
D. a’ = 4b

11



Q 3 If zand w are two non-zero complex numbers such that |zw|=1 and arg(z) - arg(w)=n/2, then

Z 0) is equal to

T z 3R o PIS T SR AHY T &, &l lzw =1 TUT HIIF (2)- BIUMD (w)=n/2, T

7A () R

Ops: A. 1
B. -1
C. [
D. -i
Q4 e\ X
1+1
If | eomenm — L then
1-1
1+i)
1-1
Ops: A X = 4n, where n is any positive integer

X = 4n, S8l n B1s YTHS QU §

B. X = 2 n, where n is any positive integer

X = 2 n, S8l n ®Is YATHD YUl §

C. X =4 n + 1, where n is any positive integer

X =4n + 1, 98l n BIs YA QU

D. X =2 n + 1, where n is any positive integer

X =2n+ 1, 98l n BIs YITHS QU



Q5

If

a o
b b
c c?

Vbt
1+ b’

19 ¢

S 0 and vectors (1, a, az),

(1, b, b2) and (1, c, c2) are non-coplanar, then the product abc equals

a o
b b

LG

I
1+ b°

14 ¢

= () quakw (1, 4, 2d),

(1, b, b%) TUT (1, ¢, ¢%) AT &I, T abc BT UM SRR &

Ops: A

2

13



Q 6 If the system of linear equations
X+ 20y -+ az=»0,
and X + 3by + bz =0
X+4cy+cz=0

has a non-zero solution, then a, b, c

e s Tl &1 e
X+2qy + az =0,

X +3by+ bz=0

Xx+4cy+cz=0
TP Y A WA §, A a, b, ¢

Ops: A are in AP

TR 901 A §
B. are in GP

O SO H §
C. are in HP

D IR

D. satisfya=2b+3c=0
a=2b+3c=0F II¥ H o

Q 7 1If the sum of the roots of the quadratic equation ax® +bx+c=0is equal to the sum of the squares
of their reciprocals, then a/c, b/a and ¢/b are in
gfe; fpt fgard TR ax? + bx + ¢ = 0 % Hall BT AT I7b ehHl P T & TN b SRR &I, ad
a/c, b/a 3R c/b g

Ops: A arithmetic progression
AR 40 A
B. geometric progression
IR Uit |
C. harmonic progression
IAD it &
D. arithmetico-geometric progression

TR - TOIRR 9oft 4

14



QS8

Ops:

Q9

Ops:

Ops:

The number of the real solutions of the equation x2 -3|x|+2=0is

A x% - 3 | x | + 2 = 0 P dRAfID gl Bl G §

A. 2
B. 4
C. 1
D. 3

The value of a for which one root of the quadratic equation
@%-5a+3)x°+(3a-1)x+2=0

is twice as large as the other, is

ECIGEIERY

@ -5a+3)x°+(3a-1)x+2=0

&1 U& Td, QIR A ST aFAT 5, 09 a BT AF §

A. 2/3

B. -2/3

C. 1/3

D. -1/3
.-a b-' f_a

IfA -_— and A2 = , then
0 P o
.-a b—- r-a ;

giq A — adl A2 = B HAGES
o a B o

A c1=a2+b2,B=ab

15



Q 11 A student is to answer 10 out of 13 questions in an examination such that he must choose atleast 4
from the first five questions. The number of choices available to him is

TH BA P PN TN H 13 UM AV 0P cASTUPR e &, [P I Uga 5 Usli § A HH T HH 4 UY
T, T9 IS UY T & D! bt BT §

Ops:A. (140
B. (196
C. (280
D. (346

Q 12 The number of ways in which 6 men and 5 women can dine at a round table, if no two women are to
sit together, is given by
TP MATHR B9 & IRI 3R 6 TN g 5 Refdl AR HIS & folT 59 THR 934 ¢ & & el Tp Ay A
931 8, 9 I d6+ b Rl b T ghft

Ops: A. 6! x 5!

B. 30
C. 5! x 4!
D. 71 x 5!

16



Q13If1, w, wz are the cube roots of unity, then

1 (1}” (u?‘ 4
n 2n
A= ® @ 1
(132 n 1 (1]”
is equal to
e 1, 0, w? THIS B T &, q9
1 (l}” (U?‘ h
A=l @" o*" 1 | wwd
mz n 1 (1]”
Ops: A 0
B. 1
C.
D. 2

Q14If nCr denotes the number of combinations of n things taken r at a time, then the expression nCr w7t
C._; + 2x"C_equals

¢ \e 1Y) N . e . n n
TS n aRgaHt ® ¥ r I¥GU Uh WY Aoy FIY TN el ot Fem &1 "C W e fpar o, aw e, +
"C_,+2x"C WRE

Ops: A. n+2Cr

n+2
B. C:r+1
C. n+1cr
n+1
D. Cr+1

17



Q 15 The number of integral terms in the expansion of

(\/_ + 8\/_)2565
L{ + 8\/_)256wﬁww

Ops: A 32
B. 33
C. 34
D. 35

Q 16 If x is positive, the first negative term in the expansion of (1 + x)27/ > is

I x 4D &, T (1 + %)%/ & TR T gl BT UG §

Ops: A. 7th term
7al

B. 5th term
5ar

C. 8th term
gal

D. 6th term
6al

18



- The sum of the series 1 1 1 upto o is
2 2°3 34,
iy 1 1

12 2.3 34

Ops: A. 2 Ioge 2

equal to

00 BT TN RTeR §

B. log o 2-1
C. Ioge 2
D. log o (4/e)

Q 18 Let f(x) be a polynomial function of second degree. If f(1) = f(-1) and a, b, c are in AP, then f ' (a), f'
(b) and f' (c) are in
M f(x) feord &1 9gudia e §, afe f(1) = f(-1) 3R a, b, c TR AR H G, q& ' (a), f' (b) 3R
f' (c) Bt

Ops: A. AP

TR Joit §

B. GP
TUITR A0ft |

C. HP
BRIHD it |

D. arithmetico-geometric progression
THFRIG-TUMR 9of o

19



Q19If Xqr Xy X3 and Yy Ypr Y3 are both in GP with the same common ratio, then the points (Xl' yl), (x2,
y,) and (x5, y5)

& Xy, Xy X5 MRy, ¥y, Y3 QA TONR 207t & ¢ FFepT Tefgure T 81 7 fg (x,, v,), (%5, ¥,),

(X3, ¥3)
Ops: A. lie on a stratight line

WA T R Rya §

B. lie on an ellipse
iefgd R A €

C. lie on a circle
AR TG

D. are vertices of a triangle
Byel & i §

20



Q 20 The sum of the radii of inscribed and circumscribed circles for an n sided regular polygon of side a, is

n YoIT37t aTer SgYS o) Ude Yol Y TS a 7, P 3<:gd g uRkgd ! Asaref &1 anr §

Ops: A.

acot|[ ™

V
n
2N
r
2

2=
acot(

D. (
4 Physics 20 questions, 4 mark for correct ans, no negative marking
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Q 1 A Particle of mass M and Charge Q moving with velocity v describes a cicular path of radius R when
subjected to a uniform transverse magnetic field of induction B. The work done by the field when the
particle completes one full circle is

m SSTHM d Q 3MTAXT ATl By HUl UH9HH D] &7 B § V V 9T ¥ R A1 & AR 4y

WRYATEIE | HU P UHh I R A R PEHI &7 gRT fowar a1 S g

Ops: A. R
my =
R 2R
.'\ f'll
B. zero
][
C. BQ2 nR
D. BQv 2 nR

Q 2 A particle of charge -16x107 18 ¢ moving with velocity 10ms ™ along the x-axis enters a region where
a magnetic field of induction B is along the y-axis and an electric field of magnitude 10* V/m is along
the negative z-axis. If the charged particle continues moving along the x-axis, the magnitude of B is
-16x10™18 el SATA aTelt T BT 10 /A F AT A x-31&1 B Y Feiall g3 VY & & 73w bl
2, o5l GrBIg &9 B, y-3ief & 3™ § 9 107 diee/H uRmmr &1 faega &= z-3ter & srfew g1 afe
S{TARRIT HUT x-31&f & S B TAHMH 8T §, I9 JWHIT &F B BT AF

Ops: A. (10% wb/m?

103 Jar/2
B. 10° Wb/m?

10° Jar/H2
C. 1016 Wb/m?2

1016 Jar/i2
D. (1073 Wb/m?

1073 qar/2

22



Q3

Ops:

Q4

Ops:

Q5

Ops:

A thin rectangular magnet suspended freely has a period of oscillation equal to T. Now, it is broken
into two equal halves (each having half of the original length) and one piece is made to oscillate
freely in the same field. If its period of oscillation is T', the ratio T'/T is

TP Udcl SAIBR T B! Jad Y J dchM IR 3P B! BT A T g1 31F 39 & SRR
TS & ¢hel H ISl OTdl § d U Cha B 341 &5 H HHH $RH UR 391 addd T' g1 T/T Bl
ISR

Sl 7 X
B. 1/2

C. 2

D. 1/4

A magnetic needle lying parallel to a magnetic field requires W unit of work to turn it through 60 .
The torque needed to maintain the needle in this position will be

TP & P JHR T fHE G B1 60° & B0 A gHM & AT W SHTS B BT 3Tawgesd gt 2
= DI 3 TR H @ & o fovas 90 1Yl D1 Sra=adar gl ?

A O 3W
B. W
C. B
Nw
2
D. 2W

The magnetic lines of force inside a bar magnet

Ueh U8 Tradh o R, T 1Y et Xy
A. are from north-pole to south-pole of the magnet
gD P ITRI Yd I fault 4d B SR Biell 8
B. do not exist
IR et et &
C. depend upon the area of cross-section of the bar magnet
3US ISP & MUY FIe & aFhd R R ot §
D. are from south-pole to north-pole of the magnet
radh P ol ya A IR 4a BT R B §

23



Q 6 Curie temperature is the temperature above which

R Y 98 a1 B, s FW

Ops: A a ferromagnetic material becomes paramagnetic
olig HIDb 1Y dcd, SFIIRID Y § STl 8

B. a paramagnetic material becomes diamagnetic
IIIRD Y qd, WD § STl §

C. a ferromagnetic material becomes diamagnetic
e DG ad, DI 99 STal §

D. a paramagnetic material become ferromagnetic
TR I, I D a9 I1dl §

Q 7 A spring balance is attached to the ceiling of a lift. A man hangs his bag on the spring and the spring
reads 49 N, when the lift is stationary. If the lift moves downward with an acceleration of 5 m/sz, the
reading of the spring balance will be

TH HAFIGR gl B, [orue &1 5 9 desmrn a7 § R forve #, gar @ fsdt 971 & dedm W gl &
TSI 49 e 31T §1 afe ferge 5 /@2 & @Rur & 19 Y 3R Wil 8, & el &1 uredies g

Ops: A 24 N
24 cH
B. 74 N
74 A
C. 15N
15 gcH
D. 49 N
49 YcH

24



Q 8 The length of a wire of a potentiometer is 100 cm and the emf of its stand and cell is. E volt. It is

employed to measure the emf of a battery whose internal resistance is 0.5 Q. If the balance point is
obtained at | = 30 cm from the positive end, the emf of the battery is

fayaaTdt & IR BT THTS 100 TH § T 5TP I BT fdodlo 99 E diee g1 fAHgAT &1 IUTNT 0.5 39
3T UfaRIY & I HT fdodlo I I B H o ST g1 afe Iga forg e RR A1 = 30 T W

T 81T &, o 9 &1 [dodlo 5 gRT
Ops: A. 30E
100.5
B. 30F

100—0.5
30(E - 0.51)

100
30(E - 0.51)

100
30F

100

where i is the current in the potentiometer wire

’aﬁiﬁmm’r%awﬁw%ﬁw%

Q 9 A strip of copper and another of germanium are cooled from room temperature to 80 K. The

resistance of

PR g STHATH Bt ufrdl & GET 9§ 80K 1Y do 3UsT far oirar €, at

Ops: A

each of these decreases

3 BT ufeRIY geTm

copper strip increases and that of germanium decreases

HITR BT URIY T G STH HIH BT G

copper strip decreases and that of germanium increases

PR BT YFRIY TSI g THTH BT T¢I

each of the above increases

3T T UfeRlY g

25



Q 10 Consider telecommunication through optical fibres. Which of the following statements is not true?

UHIRIH Hﬁéﬁ (optical fibres) T eafy TaRuT (telecommunication) & g A PH-IT HYT I T8I 8 ?

Ops: A. Optical fibres can be of graded retractive index

THIRID Tq31 BT TP HiHd gl Tl §

B. Optical fibres are subjected to electromagnetic interference from outside

THIRIS dg3f R e A faggd e &F T oiidl §

C. Optical fibres have extremely low transmission loss
UHIRIS dqaff & 9gd HH IR0 81 gt §

D. Optical fibres may have homogeneous core with a suitable cladding
TR T3l § GHIY BR 81 gebdl &

Q 11 The thermo-emf of a thermocouple is 25uV/°C at room temperature. A galvanometer of 40 Q
resistance, capable of detecting currentas low as 10'5 A, is connected with the thermocouple. The
smallest temperture difference that can be detected by this system is
YA 19 R Ueb a9 1 1Y fdodlo & 250/ C § 40 3 UieRIY &7 T YR S 6 J HH
10" URRR B} YRT BT AU B Fobdl B, AULH J AN fear S g1 | 39 Fb1d gR1 64 ¥ B
foHamT AR OTaT ST Il 62

Ops: A. 16°C

B. (12°C
c. 8c
D. (120°C

26



Q 12 The negative Zn-pole of Daniell cell, sending a constant current through a circuit, decreases in mass
by 0.13 g in 30 min. If the electrochemical equivalent of Zn and Cu are 32.5 and 31.5 respectively,
the increase in the mass of the positive Cu-pole in this time is
forat ufkuy O fgd 4RT 99 d1dd SHae 9d &1 BUTHSD Sidb (Zn) Yd, 30 e T 0.13 910 HH g
ST g | afe Sie 9 SR & faggd IMAH® Jedid R 32.5 9 31.5 §, o 3a- &l THd H YHTH®
PR (Cu) Yd & sga™ | fovd-t gfg gift 2

Ops: A 0.180 g

0.180 UtH
B. 0.141g
0.141 91H
C. 0.126 g
0.126 9MH
D. 0.242 g
0.242 J1H
Q13 1
Dimensions of , Where symbols have their usual meaning, are

1
Lo &

Ops:A. LTI

(STt wcliep o= = odf o §) Y fammd §

B. ([L2TY]
c. LETY
D. ([LTY

27



Q 14 A circular disc X of redius R is made from an iron plate of thickness t and another disc Y of radius 4R
is made form an iron plate of thickness t/4. Then , the relation between the moment of inertia I, and
Iy is
T%h JOTHR 5% X St ISR €, t Ale &1 |k &1 W ¥ §1 §, 9 4 R B &t ) feww v, t/4

nﬁaéﬁ@%ﬁ@t@ﬁ%@ﬁ%aﬁ%mewﬁlxalyﬁmm

Ops: A. Iy = 321X
B. I =16l
y X
C. I =1
D. Iy = 64IX

Q 15 The time period of a satellite of earth is 5 h. If the separation between the earth and the satellite is
increased to 4 times the previous value, the new time period will become

gedt & fordi SUUE HT SadaTd 5 90e g | Ife Yl d IWIE & o1 &1 gl 4 THT 81 oYl SUIE Bl
TT TadBTd R

Ops: A. 10 h
10 g0

B. 80 h
80 YU

C. 40 h
40 gUe

D. 20 h
20 gue

Q 16 A particle performing uniform circular motion has angular momentum L. If its angular frequency is
double and its kinetic energy halved, then the new angular momentum is
T it TIfd R §T TP HUT 1 HIUTT T L g1 IS 3! w10 Sgfy SRt g Tifast St aieft
&R < ST o T Hofig W3 M

Ops: A. L/4
B. 2L
C. 4L
D. L/2

28



Q 17 Which of the following radiations has the least wavelength?
g o ¥ forw faferor ot adrded <gAan 8 2

Ops: A. y-rays

y-faxui

B B-rays
B-fanxl

C a-rays
a-

D X-rays
X-foh3ul

Q 18 When U238 nucleus originally at rest, decays by emitting an alpha particle having a speed u, the

recoil speed of the residual nucleus is

o foRmHTgRIT H a1 U238 &1 A1fies,u 3T 9 TfAGHM a BT BT IFo DR &fd gidT 8, af D BT
gfcfared 3 g

Ops: A. 4 U

238
. 4 u

“934
© 4u
234
D. _____4_£H
238

29



Q 19 Two spherical bodies of mass M and 5 M and radii R and 2 R respectively are released in free space
with initial separation between their centres equal to 12 R. If they attract each other due to
gravitational force only, then the distance covered by the smaller body just before collision is

GEM M G 5M TUT AT R G 2R & & Mdll & P-4l & aid &1 g4l 12R §, BT el & Gad foar sirar
g1 afg T A TH-gaR B! Had To@d 90 I gl BN ®Rd §, 1 &l 1dl Pl B8 R, Tahs I
Ugd BIc Tl gRT Ia! T g_I gt

Ops:A. ( )2.5R

B. 4.5R
C. 7.5R
D. 1.5R

Q 20 The difference in the variation of resistance with temperature in a metal and a semiconductor arises
essentially due to the difference in the

YT 9 Ssarde | g & [ Uity H uRade & SR BT BRI 3

Ops: A. crystal structure

fohece Ta

B. variation of the number of charge cariers with temperature
dT9 & 1Y 3R ATe! B W&l H giRad-

C. type of bonding
§¢f BT TBR

D. variation of scattering mechanism with temperature
dTg & 91 e 1o TifAet & aRkaa ¥

5 Chemistry 20 questions, 4 mark for correct ans, no negative marking

Q 1 In Bohr series of lines of hydrogen spectrum, the third line from the red end corresponds to which
one of the following inner-orbit jumps of the electron for Bohr orbits in an atom of hydrogen?

TSI WacH Bl IR-AU B w@refi 8, e RR T qHR 34T BRI URATY] 8 §R $Hé&f & Saidcq
@1 fby 3aRe wef § og Bl g & ?

Ops: A. 352

B. 552
C. 4 > 1
D. 2—-5
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Q 2 The de-Broglie wavelength of a tennis ball of mass 60g moving with a velocity of 10 m/s is
approximately
(Planck's constant, h = 6.63 x 10734 Js)

U 29 §fdl, goAM 60 U, 10 H/A F 3T =l Q1 7, -t amreed gl
(Wi Fadi, h = 6.63 x 10°3* S@ )

Ops: A. 1033 m
10733 =t

B. (103l m
10731 #f

c. 1016 m
10716 #f

D. (110%° m
1072° Y

Q 3 The orbital angular momentum for an electron revolving in an orbit is given by

\ l( J -+ 'U --—— . This momentum for an s-electron will be given by

F iy
Ops: A. 2 l_h_
e 2n

B. Zero



Q 4 How many unit cells are present in a cube shaped ideal crystal of Nacl of mass 1.00 g?
[At. Masses Na = 23, Cl = 35.5]

Ops:A. 2.57x10%!
B. ( 5.14x 102!
C. (1.28x10%!

D. (1.71x10%
Q5 Glassis a
CACE
Ops: A. micro-crystalline solid
HISshI-feheedig o1e
B. super-cooled liquid
Sfferiicere ga
C. gel
B
D. polymeric mixture
CENEARIEEL
Q 6 Which one of the following statements is correct?
A e HHA Ia g ?
Ops: A. Manganese salts give a violet borax bead test in the reducing flame
TR SaTell B HIIS o ST SR St (YT AehT) Ufe 3 8
B. From a mixed precipitate of AgCl and Agl, ammonia solution dissolves only AgCl
AgCl Td Agl & Taf¥a sradu |, i faeae Saa AgCl &1 &) aierdT 8
C. Ferric ions give a deep green precipitate on adding potassium ferrocyanide solution

Qe RE WarERe e e W Fedt i TexT &3 3hau 3o ¢

On boiling a solution having K", Ca’™ and H C03 ions we get a precipitate of

K,Ca(C0s),
<, ca?* vt H (GO 5 3 35 Rewr B Sa1e W K,Ca(CO,), F Sl 1w 8 3
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Q 7 According to the periodic law of elements, the variation in properties of elements is related to their

31ad fFAgeER, d@l & ol § uRada ik sar g

Ops: A.

atomic masses
qRAT0gh STl IR

nuclear masses

B GoH T TR

atomic numbers

TRATY hHih! TR

nuclear neutron-proton number ratio

BT GH-Uie J-AT U TR

Q 8 Graphite is a soft solid lubricant extremely difficult to melt. The reason for this anomalous behaviour

is that graphite
YBTSC A 31T Ve g ol BidTs I fUUd g1 59 UIHR HIGR BT HRUT §

Ops: A.

is @ non-crystalline substance

ABTEE SHiheeed Uy §

is an allotropic form of diamond
Tg ER &1 3RFY §

has molecules of variable molecular masses like polymers

JhTge B 9gad! & 9 fUd GoadE & - o) 8id § o 9gad o

has carbon atoms arranged in large plates of rings of strongly bound carbon atoms with weak
interplate bonds

JBTZC & dh H HIe- URHTY] JTGI=ITEH S GRT S[S 81 & Sfdie Udi & Hed gad o= UTY STTd
g
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Q9 The IUPAC name of CH3COCH(CH3)2 is

CH3COCH(CHS), ®T 3o Fo Hlo To Hlo TH T

Ops: A. isopropylmethyl ketone
TSI A BicH
B. 2-methyl-3-butanone
2-ARd-3 -G
C. 4-methyli-sopropyl ketone
4-0fYS ST BIcH
D. 3-methyl-2-butanone

3-AfYd-2-8g ¢4

Q 10 when CH2=CH-COOH is reduced with LiAIH 4 the compound obtaioned will be
1§ CH,=CH-COOH, LIAIH, & |1 37oifaid g g ) Ut A g

Ops:A.  CH;-CH,-COOH
B. (CH,= CH-CH,OH
C. ( CHy-CH,-CH,OH
D. () CH;-CH,-CHO

Q 11 According to the kinetic theory of gases, in an ideal gas, between two successive collisions a gas
molecule travels

T & Tt R & AR, U6 e 19 H &l FAdcadf cadm:i & TRy 3] o

Ops: A. in a circular path
U ddlhR Y TR
B. in a wavy path
Th RITTY WX
C. in a straight line path
TP W 7Y W
D. with an accelerated velocity

aRd T ¥



Q 12 The general formula CnHZnOZ could be for open chain
| G C H,, 0, 74 # 3 fob g et 4t b Aiffiep! bt YafRid Bl 82

Ops: A. diketones

B. carboxylic acids

CACIEAINCRSE

C. diols
S

D. dialdehydes

RIRNUSHES]

Q 13 An ether is more volatile than an alcohol having the same molecular formula. This is due to

A 3M10a® G & Teblald Ud 3R A, SR iU aroueiid §, SUHT SR §

Ops: A. dipolar character of ethers
SR 1 fgydig weur
B. alcohols having resonance structures
TRl Pt 3ATG TRTTY
C. inter-molecular hydrogen bonding in ethers
SR T RI-ATUGH gIRSIoH o= P Uil
D. inter-molecular hydrogen bonding in alcohols

Tehigld T 3fRI-3M110deh BRI a ol Iufufa
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Q 14 Among the following four structures I to IV

CH, O CH,

| (.
¢,H, — CH—GC;H, CH,—C— CH—C,H;

[ (11

i i
l

H— C° CH;— CH—G;H,

| (V)

H

(I11)
it is true that
Frafafea Sxammei 19 1Iv & fag,

CH, O CH,

l = ed]
C,H; — CH—C;H; CH,—C—CH—C,H;

[ (11

] ik
|
H— C° C,H;— CH—GC,Hs
| (V)
H
(111)
Te 9 g fe
Ops: A. all four are chiral compounds
IRI AT AR §
B. only I and II are chiral compounds
$ad 1 T4 11 AT afe §
C. only IIT is a chiral compound
Had 111 M AS §
D. only IT and IV are chiral compounds
Had I1 U4 IV 3RHfHd 9 §
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Q 15 Which one of the following processes will produce hard water?

9 ¥ 3 {59 UpH ¥ HoR 5d UTd gIm?

Ops: A. Saturation of water with CaCO3
SId BT CaCo, | WIUI

B. Saturation of water with MgCO3
SId BT MgCO, T |IUT

C. Saturation of water with CaSO 4
SId T CaSO, T 50

D. Addition of NaZSO 4 to water

Nazso4ﬁaaﬁﬁ|ar?ruv

Q 16 Which one of the following compounds has the smallest bond angle in its molecule?

g Qe & § feaed i & gaffee ag s Hiur g 2

Ops: A. SO2
B. OH2
C. SH2
D. NH,

Q 17 Which one of the following pairs of molecules will have permanent dipole moments for both
members?

5 3opef o gl ¥ @ fhud Qi gawdl & foe wirdt fgya sl g
Ops: A. SiF4 and NO2

SiF 4 ayr NO2
B. NO2 and CO2

NO,, TT CO,
C. (/NO,and O,

NO2 qur O3
D. SiF4 and CO2

SiF, du1 CO,



Q 18 Which one of the following group represents a collection of isoelectronic species? (At. no. Sc-55, Br-
35)

5 gl & A HH-91 U gHgciaie WS & T I Uafid edl 8?

Ops: A. Na®, ca?t, Mg2*
B. (N>, F,Nat
C. (Be APY, C
D. (ca®*, cst, Br

Q 19 In the anion HCOO  the two carbon-oxygen bonds are found to be of equal length. What is the
reason for it?

HCOO™ BUMIH & Sl BTe--HTRITo g7 JH dHTs & U Td &1 39T T HRUT BT 872

Ops: A. Electronic orbits of carbon atom are hybridised
B URAIY] & Saaci e Bal Yebid 8l o
B. The C = O bond is weaker than the C-O bond
C=0 &%, C-O &% P 3(0&T gadl §

C. The anion HCOO' has two resonating structures
HCOO™ U &Y AT WA adT §
D. The anion is obtained by the removal of a proton from the acid molecule

3T & U] Y TH Wiel Fba IR B §-dT1 §

Q 20 The pair of species having identical shapes for molecules of both species is

9 & 9 S supsft & fore T q|m WRaHsT o g 8

Ops: A. CF4, SF4
B. Xer, CO2
C. BF,, PCI
D. PF
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1 General Awareness 30 questions, 4 mark for correct ans, no negative marking

Q 1 Which of the following is a Harappan port?
AAffEd § F PF-TT T 8T BT §&0T8 © ?

Ops: A Alexandria

[GEZATe))

B. Lothal
GIEGH

C. Mahasthangarh
HERRITTS

D. Nagapattanam
ATTYSAH

Q 2 The British established its first commercial factory at
ST A 37YAT USeT ATUTRSG BREMT dal LTfud fbar ?

Ops: A Surat in 1610

1610, gd
B. Amargaon in 1611

1611, 319301Td
C. Hoogly in 1626

1626, greft

D. Masulipatnam in 1611

1611, AgeiTagTH

Q 3 What were the symbols of Indian Nationalism?

VRART ST BT Ufdds T & ?

Ops: A Charkha-Khadi
TRET - Gt
B. Ashok Chakra- Talwar
372Mp Tk - deTdR

C. Lathi-Ainak
T3t - VAP
D. None of the above

IR § A B T8 39



Q 4 Which of these statements is TRUE with regard to the poem "Amar Sonar Bangla' penned by
Rabindranath Tagore?

IdigATer TR gRT fodt 1€ fddT IMRIAAR ST ' & oy § fefafed § F o 91 weF 987 & ?

Ops: A. It was Tagore's first ever poem.
g R BT Ugad! bfddr ot |
B. This poem later was adopted by Bangladesh as its national anthem.

S BfgdT Bl 18 W FiTATS2l 7 3799 IS &b BY § 379977

C. This poem fetched Tagore the Nobel Prize.
3 PfddT & foiv IR BT Fded REPR feam 7|

D. The poem was a school prayer at Shantiniketan.

g BIdT eidf-ddad H Ydb el bl AT ot |

Q 5 The membership of a Member of Parliament ceases after a consecutive absence for how many days?

fAHfefEd # 4 fosd & &Y R 3gulkAfd & 1 T8¢ & e 6l Fe=dl AT &1 SIdl & ?

Ops: A. 50 days
50 f1

B. 30 days
30 fea

C. 60 days
60 fT

D. 90 days
90 f&T

Q 6 In which year a National Emergency was declared on the ground of 'internal disturbance'?

oo o ¥ '31Td R 3ugd’ & 3MUR WR Uds IS MUTddhIA TNfyd fsar mar &7 ?

Ops: A. 1971

B. 1965
C. 1999
D. 1975
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Q 7 Which is the only planet in the Solar System which is not named after a Roman mythological deity?

IR Hed BT THHATT Ug BIF AT & ST 719 A0 URI0Ie &g & 91 W T8 & ?

Ops: A. Mercury

R
B. Earth
get

C. Neptune

T

D. Uranus

RG]

Q 8 Which of the following is NOT correctly matched?

frafered ¥ & B w8 BT & gafad 78 2 ?
Ops: A. Atomic Minerals Directorate for Exploration and Research-Mumbai
TRHTU] GfoT 37907 Qd 37U Feemes - g8
B. Nuclear Fuel Complex - Hyderabad
AT S TRIR - TRETE
C. Nuclear Power Corporation of India Ltd. -Mumbai

YRR ATHST o1t BRARA fAifies - grrg

D. Heavy Water Board - Mumbai
TS STcf §1e - Jris

Q 9 Which of the following rocks is not "acidic rock"?

frafafad § ¥ s @ ggm "3l TgE" T8 € ?

Ops: A. Granite
DEIET
B. Rhyolite
ATATES

C. Dolerite
EGINES]

D. Pitchstone
i
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Q 10 Recently, BMP - T Terminator was in the news. It is related to -

Tl & # SivAdl-& efiaex T=f o ol Ig defod @ -

Ops: A. Ballistic Missile system
dfcifed Harsa gorett

B. Armored fighting vehicle

S¥IRES dIslPp dTgd
C. Assault Rifle
3T IS
D. Frag Grenade
ERCES

Q 11 Which of the following is an anti-submarine warfare aircraft of the Indian Navy?

79 & @ B YRdTT F1T BT Teb Ugssit At Ggep fawm € 2

Ops: A. Dornier 228
SIfaR 228

B. TH - 57
évg - 57

C. UAV Heron
gudt &

D. Boeing P-81
ST P-81

Q 12 Recently , Indian Air Force test-fired Extended - Range brahmos Missile from which fighter Aircraft?
B & W, YRAI 9 A7 7 16 w181 fan § faraRa-¥s1 seie fimset &1 wlieror fbar?

Ops: A. Sukhoi-30
garg - 30
B. Rafael
Al

C. HF - 24 Marut
UIU% - 24 H¥d

D. Mirage - 2000
fiRTsT - 2000
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Q 13 Dicommissioned Indian naval ship (INS) Khukri planned to be converted into a museum in which
place

JaTgd fby 7T HRGRT AP STerst (INS) Gebdl Bl Ueb HURT@d H URed &3 Pl ATl & ST
¥ fgd 21

Ops: A Vishakhapatnam
faemaETaaTq

B.  Diu
EE]

C. Port Blair
I s’

D. Goa
T

Q 14 What is the name of sixth submarine of the P75 project of the Indian Navy which was launched by at
Mazgaon Dock Ltd?
YR FRAT 1 P75 IRATSHT bl B3 gest BT ATH T & TSI #eTid gieb feifAde gRT ol febar mam & ?

Ops: A. INS Kalvari

3TETATH B

B. INS Khanderi
TSTATH W3t

C. INS Karanj
TSTATH Pl

D. INS Vagsheer
TSTATH AR

Q 15 Which of the following plays vital role in photosynthesis?
fafEd § 9 P gebrer Heawor § Heeaquf yfdest fqrar & 2

Ops: A. Chloroplast
eRd wa®
B. Centrosome
AR b

C. Tonoplast

D. Nematoblast 43
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Q 16 Which of the following part of the plant participate in sexual reproduction-
G T FA=feferd # O B - 91 881 oiffies ST § 11T o1 @ -

Ops: A.

Leaf

Root

Flower

Stem

Q 17 Which one of the following diseases in humans can spread through air?

HHaT # fAHffed ® & oH-91 0, arg gRT Yol JebdT & ?

Ops: A.

Dengue
7,
Tuberculosis

&ra AT

HIV-AIDS
T TS It ged

Goitre

oET

Q 18 Loudness of sound can be determined by

@ bl UgatdT e gRT HUiRd 6T ST Jabdl & ?

Ops: A.

Amplitude of vibration

DU BT 3TITH

Ratio of amplitude and frequency of vibration
3TITH 3R YA BT 31Tl &1 3aTd

Frequency of vibration

U BT g

Product of amplitude and frequency of vibration

3TTATH 31 &0 BT g BT 3T
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Q 19 In which medium light travels fastest?
BTl T AT W e o<t fd I Iadl & ?

Ops: A. Glass

CAE)
B. ( Air
g

C. Diamond

ERT

D. Vacuum

GEIG

Q 20 Which of the following place experience the least force of gravity?

AfefEd # 8 P A1 W a8 B TSI g BT 31T Bdl & ?

Ops: A. Equator
A Em
B. Poles

gd
C. A point between equator and a pole
VAe 3T 3R Yyd & i 61 g fag
D. None
B1g el

Q 21 Naphthalene balls disappear with time without leaving any residue because of

ABYAH D MG {67 DI 379 Blg THY P 1 & St 8, fbdd BRUT?

Ops: A. Sublimation
RASEIGE]

B. Evaporation

CILCEI

C. Diffusion
faazor

D. None of the above

T q B8 ol T
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Q 22 Which emperor's army did Maharana Pratap fight in the Battle of Haldighati?
EIITET & g W HERTUT UdTd F HHIS Pl I 6T g fobam ar?

Ops: A.
B.
C.

Mahmud Shah HgH< Mg

Humayun ‘gTrRi
Ibrahim Lodi
ELURCKGIG

Akbar 37dheR

Q 23 Deficiency of which of the following nutrients is the most common cause of goiters?

fafafad & 3 {9 Uiy da & S, o9 I BT T BROT 87

Ops: A.

Iron
ATIRT

Vitamin C
faerfia C

Calcium

Hfeoray

Iodine

TS

Q 24 Second generation computers can be characterized largely by their use of

Jd5g SR &b BRI B & IUANT gRT 9 Y0 IR afvla fosar 11 et 21

Ops: A.

Integrated circuits
Vacuum tubes

dRH =@

Microprocessors
Transistors

giforex
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Q 25 Which force helps swimmers float in water?

PIT T I RTb! BT IHT & oA H Heg HBdT 87

Ops: A. Muscular force

UL et

B. Frictional force
PENIEG]

C. Buoyant force
AT ded

D. Magnetic force
REEAREL]

Q 26 In which of the following locations was the Global venture Capital Summit 2018 held?
fiefefea ¥ O el R T@led dR Sfted dfie 2018 3maford far i o ?

Ops: A. Mumbai
e
B. Pune

oo

C. Ahmedabad
gHaldTa

D. Goa
iG]

Q 27 The Sunauli border is a famous transit point between India and

el TAT vRa 3R & di9 U Ufdhg gifsie wrge 22

Ops: A. Myanmar

RIAR

B. Nepal
ELIGH

C. Pakistan
qTfehedT

D. Bhutan

e



Q 28 The Walayar Dam is in which district of Kerala?
ITETIR 1Y B b b foiel H 2?

Ops: A Kasaragod
PRRME

B. Palakkad
EGESEC]

C. Thrissur
dRR

D. Idukki
EECEAl

9

Q 29 With which of the following sports is Karan Chandhok associated?
O] G FAFfafed ¥ 3 fiog 9@ & ddfud €2

Ops: A. Lawn Tennis
GIERAGS:]
B. Badminton
defriea
C. Table Tennis
e A

D. Car Racing
PR IAFT

Q 30 Which is the coldest place in India?
HRA H a8 3T U P AT 2?

Ops: A. Amarnath
3HIATY
B. Dras
g

C. Leh
e

D. Srinagar
SR
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2 English 30 questions, 4 mark for correct ans, no negative marking

Q 1 Select the most appropriate meaning of the given idiom. Like a cakewalk

Ops: A. Smooth surface
B. Pleasant experience
C. Easy task
D. Active

Q 2 Select the most appropriate meaning of the given idiom. A green horn

Ops: A. Uneducated person
B. Inexperienced person
C. Clever person

D. Skilled person

Q 3 Choose the correct meaning of the given idiom. Bag and baggage

Ops: A. With burden
B. Without any aim
C. Without happiness

D. With all of one's possessions

Q 4 Select the most appropriate meaning of the given idiom. Break the ice

Ops: A. Make people meeting first time feel uncomfortable
B. Make people meeting first time feel sad
C. Make people meeting first time feel more detached
D. Make people meeting first time feel more comfortable
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Q 5 Select the most appropriate meaning of the given idiom. To smell a rat

Ops: A To have reason to know the presence of a rat
B. To have reason to suspect
C. To know the smell of a rat
D. To learn the smell of a rat

Q 6 Select the most appropriate meaning of the given idiom. Fair and square

Ops: A. Honestly
B. Fair-skinned
C. Being vague
D. Good looking

Q 7 Select the option that can be used as a one-word substitute for the given group of words.
A piece of a living tissue or plant that is transplanted surgically

Ops: A Gratis
B. Gourmet
C. Gracious
D. Graft

Q 8 Select the option that can be used as a one-word substitute for the given group of words.
Plants of a particular region

Ops: A. Flora

B. Flinch
C. Fauna
D. Flotsam

50



Q 9 Select the option that can be used as a one-word substitute for the given group of words.
One who does something not professionally but for pleasure

Ops: A.
B.
C.

D.

Q 10 Select the option that can be used as a one-word substitute for the given group of words.
A place where coins and medals are made.

Ops: A.
B.
C.
D.

Q 11 Select the INCORRECTLY spelt word.

Ops: A
B.
C.
D.

Q 12 Select the INCORRECTLY spelt word.

Ops: A
B.
C.
D.

Professional
Mature
Immature

Amateur

Office
Mint
Mine

Barn

Finery
Hiest
Cringe

Defer

Peircing
Sleek
Pie

Itch
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Q 13 Choose the incorrectly spelt word.

Ops: A.
B.
C.

D.

Slaughter
Cropping
Traffickng

Tyrannical

Q 14 Select the INCORRECTLY spelt word

Ops: A
B.
C.
D.

Cemetery
Accommodate
Intruder

Necessary

Q 15 Choose the INCORRECTLY spelt word.

Ops: A
B.
C.
D.

Q 16 Select the most appropriate synonym of the given word.

Texture
Slege
Savoury

Tamper

Competent
Ops: A. Complex

B. Poor

C. Capable

D. Beginner
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Q 17 Select the most appropriate synonym of the given word.

Announce
Ops: A. Denounce
B. Secret
C. Hide
D. Advertise

Q 18 Select the most appropriate synonym of the underlined word in the given sentence.

The sporadic instructions of the invigilators distracted the examinee.

Ops: A. Continuous
B. Indirect
C. Repetitive

D. Occasional

Q 19 Select the most appropriate synonym of the given word.
Transient

Ops: A Transform

B. Temporary
C. Transmit
D. Trap

Q 20 Select the most appropriate synonym of the given word.
Moral

Ops: A Ethical
B. Honourable
C. Godliness

D. Symphony
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Q 21 Select the most appropriate synonym of the given word.
Exaltation

Ops: A. Dejection
B. Ecstasy
C. Satisfaction

D. Elaboration

Q 22 Select the most appropriate ANTONYM of the given word.
Rebellion

Ops: A. Uprising
B. Loyalty
C. Sedition
D. Allotment

Q 23 Select the most appropriate ANTONYM of the given word.
Hospitality

Ops: A. Complaint

B. Cordiality
C. Coldness
D. Wrathful

Q 24 Select the most appropriate ANTONYM of the underlined word.

Failure to carry hall ticket to the exam is considered as a trivial issue.

Ops: A. underrated

B. kind
C. problematic
D. serious
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Q 25 Select the most appropriate ANTONYM of the given word.
Casual

Ops: A. Spiritual
B. Personal
C. Formal

D. Traditional

Q 26 Select the most appropriate ANTONYM of the given word.

Conceit
Ops: A Concealment
B. Reveal
C. Modesty
D. Hidden

Q 27 Select the most appropriate option to fill in the blank.
The angles are equal, consequently the sides are _.

Ops: A. equal

B. unequal
C. larger
D. smaller

Q 28 Select the most appropriate collocating word to fill in the blank.

Ram was praised for his leadership.

Ops: A. imaginary

B. visionary
C. magical
D. broad
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Q 29 Select the most appropriate option to fill in the blank.
The doctor directed the nurse to administer an medicine to the patient.

Ops: A. official

B. eminent
C. alternative
D. insightful

Q 30 Select the most appropriate option to fill in the blank.

If you try to do something every day you will progress.
Ops: A. hold

B. get

C. make

D. catch

3 General Intelligence & Reasoning 30 questions, 4 mark for correct ans, no negative marking

Q 1 In a certain language, CHHAPAK is coded as DJKEUGR. How will MALANGA be coded in that
language?
Ues fAfead goe Mo H CHHAPAK @1 DIKEUGR & %Y | Geedg fosam Sirar 21 33 e WroT H MALANGA &1
o B H Ppedg fbar SR ?

Ops: A NCEOSMC
B. NCOCSMC
C. NCOESMH
D. NCOCMSC
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Q2

Ops:

Q3

Ops:

Q4

Ops:

Amit, Gaurav, Hatim, Varun, Yukti and Zaid are sitting in a straight line, all facing the north. Gaurav is
fourth to the left of Amit. Yukti is sitting at one corner. Hatim is fourth to the left of Yukti. Zaid is third
to the right of Gaurav. Who is sitting at the second place to the left of Zaid?

wifid, T, wfa, T0T g 3R Sie T A ofe ¥ 95 ¢ it 3R Rem B 3R sifige 1 ke, 3fid B
IR Y W W 21 Gfekd b fBAR W I3t 21 gIfa, ferd & 9 A T W 21 Si, TRT & e dRR AT
W gl Sl &b IR GEY VI W B d3T 2 ?

A. Varun
gau7
B. Yukti
gferd
C. Hatim
GIGL]
D. Amit
7fAa

Select the correct combination of mathematical signs that can sequentially replace the * signs and
balance the given equation.

60 * 48 * 36 * 6 * 15 * 53

U R & 39 Hel FAIoH 6l I o 158 1 1T 77 AT # * fagl & M W shiHe B H 3@
 FHIROT Hfeid 8 ST

60 * 48 * 36 * 6 * 15 * 53

A. +, =, -, X, =
B. +, 5, %X, -, =
C. ,+, X, -, =
D. X, =, + =

Select the number from among the given options that can replace the question mark (?) in the
following series.

237, 196, 155, 114, ?

QMg faeeat ¥ ¥ g8 T gy o fAEfafEd Aoit & gedares fame (?) & &M W 3 Johd 2
237, 196, 155, 114, ?

A. 47
B. 98
C. 73 57
D. 64



Q 5 Select the combination of letters that when sequentially placed in the blanks of the given series will
complete the series.
_Z_C_LZ_C_L_X_VL___V
3ERT & 3T TSI BT IIT Px ol & T8 YT &b Rt TN H B B F IW ST W I §HAT BT gof
BT
_Z_C_LZ_C_L_X_VL___V

Ops: L, X, V,X,V,ZC,Z X, C
X, Z,L,XV,ZCCCL
L, X,C, X, V.C,ZC,ZC
L, X,V,V,X,C,C X, 2 Z

OO0 w P

Q 6 If'@' means 'addition’, '%"' means 'multiplication’, '$' means 'division' and '#' means 'subtraction’,
then find the value of the following expression.
29@ 128 $16 % 7 # 22

Il '@ 7 31 'S B, ‘%' BT 37 T &, '$' BT 312 M R 3R # BT 31w B, Y FAHfafad dsie

&BT HF ATd BT
Ops: A. 58

B. 47

C. 63

D. 23
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Q 7 Select the option in which the given figure is embeded (rotation is NOT allowed).
39 fadea &1 aa7 & S <t 18 3napfd Af=fed 2 (g HY 3rgafd T8 2)

N

3216851

Ops: A
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Q 8 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is
shown in the following figures. How would this paper look when unfolded?

fAifcd smepfadl § BTTeT & U gabs Bl HIgd &1 A 3R Hg U BIIST DI BIed BT i [E@mT 7T 81 T
BT Wit W BT fezm ?

-‘ — -
e "'\ o -
v A A O \
1 L E N :
] - ! ‘
’ \ [ I "‘ | r
! “ | J' - | J
- "‘-h’ i ds ™

Ops: A.
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Q 9 Read the given statements and conclusions carefully. Assuming that the information given in the
statements is true, even if it appears to be at variance with commonly known facts, decide which of
the given conclusions logically follow(s) from the statements.

Statements:
All flowers are beautiful.
Vaidehi is beautiful.

Conclusions:
I. Vaidehi is a flower.
I1. Some beautiful are flowers.

f3q 7q AT 3R fApuf Bl waHYd® ue| ag HAd g b Bl | &I 1€ STHeRI 9 &, ¥el 8 98 9T B
I T qAt I A= Tedtd gt &Y, 97 o} 1 Ay 77 fest § I B I sy weAl 1 difdhds B I IR0
P &l

B
Tt Bel, Y 2
9ET, YR B

fAreep:

I & Bt Bl
II $8 &, Bl 2

Ops: A. Only conclusion II follows.
Ppact ARy 11 31JER0T BT Bl
B. Either conclusion I or II follows.
T dr fAspe I AT 11 37ER0T T &
C. Only conclusion I follows.

el AP I 37 HOT BT 2

D. Both the conclusions follow.

AT fAsep 317ER0T BYd 2 62



Q 10 Select the correct water image of the given combination of letters.
DFNZSR
T MY 378R- AN BT o § Ffid 98t wfdfda gafid o3|
DFNZSR

ossA - QdUNSCHB
“ DEZN@EZEB
““DENXeHN
> DEWSZEHB

Q 11 Select the correct option that indicates the arrangement of the given words in the order in which they
appear in an English dictionary

Ig Wel fdehey g SiT f&U TV 2reai & 39 w4 ol S2IfdT & 57 67 H d 37t 2leceprel H HIS[E 81d B
1. Petitionary

2. Petitioning
3. Petition

4. Petitioners
5. Petitioned

Ops: 1,2,3,4,5
4,1,2,3,5
3,1,5,4,2
3,1,4,5,2

o 0w P

Q 12 Select the option that is related to the third term in the same way as the second term is related to
the first term.
3 fahed &1 T8 B Sl TR U< I 34T JhR Iafod ¢ o UPR IR U< Ugel Ug 3 Heifad 2|
BACTERIA : EXFWBUFX :: WOUNDS : ?

Ops: A ZLRQGV

B. ( YLRQFV
C. ( ZLSQFW
D. () ZRXQGV
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Q 13 Study the given pattern carefully and select the number from among the given options that can
replace the question mark (?) in it.
CQ TT¢ e ol wHydd 3read &Y 3R QU 1 foebeul # I 39 ST BT I B Sil 394 JAdrED g (?)
&P Y W 37 Fhd! gl

48 63 56
42 1884515215178
14917
Ops: A 21
B. 18
C. 19
D. 17

Q 14 Select the letter-cluster from among the given options that can replace the question mark (?) in the
following series.
3T Y fdepeal # & 39 31eR - g BT I HIfSY S [FAfcfEd Y@ § A (?) & WM W 31T Jbdl
2l
TSF, RPJ, PMN, NJR, ?

Ops: A. JFV
B. KGU
C. LGN
D. LGV

Q 151n a certain code language, 'CROWD' is coded as 23415924 and "TRHICK' is coded as 162491997.
How will 'FRUGAL' be coded in that language?
Ueph fAfeTid e HTHT H, 'CROWD' T 23415924 & ®U H Ppedg fobam 71 € iR 'TRHICK' @1 162491997 &
BY § pedg fbar T 21 34T 1T | 'FRUGAL' 1 fdbd ®U H pedg fbar Sram?

Ops: A. 1226761821
B. 1521012291
C. 1512021921
D. 1221021186
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Q 16 Saloni is the daughter of the only son of Kartik. Nirupama is the mother of Deepak. Yamini's only son,
Ankit, is married to Nirupama. Kartik is the paternal grandfather of Deepak. How is Kartik related to
Ankit?

FAHT, P b Thald d¢ Pl ot &1 THUHAT, U Hf 7T 81 ATEAT & Tbald d¢ 3ifdsa Hr oMl FHeuar &
€8 81 PIfdes, Euc & aral 81 Pifdes b 3ifcd & o1 Heyy 82

Ops: A. Brother
RIS

B. Paternal uncle
CIEl

C. Son
T

D. Father
Gl

Q 17 Six letters and symbols, H, h, I, @, % and $, are written on the different faces of a dice. Two
positions of this dice are shown. Select the letter or symbols that will be on the face opposite to the
one having 'H'.
T Y P I Befedl W 8: 38R IR TAB H, h, I, @, % 3R $ foi@ 77 &1 o9 gy &Y < f&Afaar fears
TS 1 39 31&R AT Ycltds BT TIT B Sif 'H' aTel Belds b fIuid Tetds TR 8|

% | H h.@
Ops: A $
B. %
C. h
D. @

Q 18 Select the option that is related to the third number in the same way as the second number is related
to the first number.
39 dhcq BT T PIfoiy, oD dRIRT TEAT F g8l Fed &, ST T HAT 6T Ugedt T&7 3 2
223 :350::519:7?

Ops: A. 736
B. 645
C. 687
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Q 19 Four letter-clusters have been given, out of which three are alike in some manner and one is
different. Select the letter-cluster that is different.
13T U TR 31eR-GHEl # I o bt 7 fosadt bR & TAT € 3R Ueb 3197Td &1 39 39 317 378R-THg Bl
I B

Ops: A. SPK

B. (JGT
C. () PMN
D. (GTQ
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Q 20 Select the figure from among the given options that can replace the question mark (?) in the
following series.

o Y fasedl ¥ I 39 3P BT 9 &SIl [HH W1 § JeTdarad g (?) & T W 37 bl 8l

Ops: A.
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Q 211n a certain code language, 6219 means 'Sachin is a cricketer' and 2646 means 'He played from
Mumbai'. Which of the following is the code for 'Mumbai is very famous'?
U fAfeTid e ST ®, 6219 &1 318f 'Sachin is cricketer' € 3IR 2646 &1 313 'He played from mumbai' 21
'Mumbai is very famous' & feig fAmfcifed # & fdod ge &1 wiT fdsam Si?

Ops: A. 7945

B. 6246
C. 6285
D. 2458

Q 22 Select the set of classes the relationship among which is best illustrated by the following Venn
diagram.

aif & 3 HHIY D1 I BN ol 2eal b & b1 Hae ([HH 99 3R gRT Fafad BU 4 gerfar T gl

©

Ops: A Fathers, Brothers, Males
far, wig, geu
B. Grandfathers, Fathers, Males
&1el, fudt, gey
C. Literates, Engineers, Farmers

&R, SR, fsam

D. Mothers, Aunts, Doctors
o et o
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Q 23 Gaurav exits from the backdoor of his north-facing house and walks 25 m straight, then the takes a
left turn and walks 36 m, then he turns left and walks 47 m. He turns left again and walks 36 m. How
far and in which direction is he from his house now?

TRE 3197 39 =R & U8l Aot I d1er (bt 8 fSyepT J@d gk 3R &2 & 3R 8 3R 25 m T <efdT &,
i g aT¢ oaT & 31K 36 m =T £, I8 R aT¢ oaT @ 3R 47 m T #1 a8 R F a1¢ gear & 3R 36 m
TIoTdl 81 g8 370 TR et g 3R fbgy feem # € 2

Ops: A. 22 m, North
22 m, 3TN

B. 11 m, North
11 m, 3

C. 22 m, South
22 m, &feror

D. 11 m, South
11 m, =faror

Q 24 Mohit and Sudesh bought pens and notebooks from the same shop. Mohit bought 3 pens and 6
notebooks by paying an amount of ¥180. Sudesh bought 5 pens and 2 notebooks by paying an
amount of ¥116. How much did Mohit spend on buying notebooks?

Aifed 3R J&or 7 TP & g A et 3R Bifoar W Aifed 7 T180 T 3 FHaId 3R 6 PIfual TR |
Faor 4 ¥116 @ 5 et 3R 2 BIfudi WIS HIfgd 3 BIfuai BRied W fbd Bud & foby ?

Ops: A. 384
B. 3138
C. 3122
D. %115

Q 25 Select the number from among the given options that can replace the question mark (?) in the
following series.
f&T TV fdeheal # & g Fwar AT S HHfefeEd 9uit § geTare fmg (?) & I W 31 Jebd! 8l
5, 18, 70, 278, ?

Ops: A. 328
B. 298
C. 1110
D. 592
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Q 26 Arrange the following words in a logical and meaningful order
1.Monkey 2. Elephant 3. Rat 4. Fly 5. Lion
fAfafEd el @ T arfde 3R wrefe B Fafed difey
1.Monkey 2. Elephant 3. Rat 4. Fly 5. Lion

Ops:A. ( )3,4,1,5,2
B. (4,3,1,5,2
C. (14,1,3,2,5
D. (3,4,1,2,5

Q 27 Select the option that is related to the third letter-cluster in the same way as the second letter cluster
is related to the first letter-cluster.
GATE: HXYX: : SINK:
39 fae o1 Ia HIGR o T -7 37eR THE 3T TR Feifod & fS9 TR gERT 31gR-TWE, Ued 38R
TE I Heferd 2
GATE: HXYX: : SINK:

Ops: A TGSE
B. TETD
C. TESD
D. TFSD

Q 28 Three of the following four words are alike in a certain way and one is different. Pick the odd
one out.

fAafafad ar ol § § @7 e ffedd bR I T I9F § 31R Ua = 21 {1 &1 [ FifSi|

Ops: A Roar

B. Hoot
C. Bray
D. Amble
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Q 29 1n a code language, BLEND is written as ENHPG. How will WINNER be written in the same language?
U e HTHT H, BLEND I ENHPG foi@r STrar 21 33t 1S & WINNER @1 fdod UebR ot S|

Ops: A. () ZKQPHT

B. () ZKQPHU
C. (  YKQPHT
D. () ZKOPHT

Q 30If V=44 and FAT=54, then how will you code LATE?
gfe V=44 3{R FAT=54 &, a1 LATE &T e T BIT?

Ops: A. 76
B. 110
C. 54
D. 19
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1 General Awareness 15 questions, 4 mark for correct ans, no negative marking

Q 1 Which of the following is a Harappan port?
AAffEd § F PF-T7 T 8T BT §&0T8 © ?

Ops: A Alexandria

[GEZATe))

B. Lothal
GIEGH

C. Mahasthangarh
HERRITTS

D. Nagapattanam
ATTYSAH

Q 2 The British established its first commercial factory at
ST A 37YAT USeT ATUTRSG BREMT dal LTfua fbar ?

Ops: A Surat in 1610

1610, qd
B. Amargaon in 1611

1611, Mg
C. Hoogly in 1626

1626, greft

D. Masulipatnam in 1611

1611, AgeitagTH

Q 3 What were the symbols of Indian Nationalism?

VRART ST T Ufdds T &1 ?

Ops: A Charkha-Khadi
TRET - Gt
B. Ashok Chakra- Talwar
372Mh Tk - doTdR

C. Lathi-Ainak
T3t - VAP
D. None of the above

3R | F BIS T8! 72



Q 4 Which of these statements is TRUE with regard to the poem "Amar Sonar Bangla' penned by
Rabindranath Tagore?

IdigATer TR gRT fodt 1€ fddT 3MRIAAR ST ' & oy § fefafed § I o 91 e 987 & ?

Ops: A. It was Tagore's first ever poem.
g R BT Ugad! bfddr ot |
B. This poem later was adopted by Bangladesh as its national anthem.

S BfgdT Bl 18 W FiTATS2l 7 3799 IS &b BY § 379977

C. This poem fetched Tagore the Nobel Prize.
3 PfddT & foiv IR BT Fded REPR feam 7|

D. The poem was a school prayer at Shantiniketan.

g BIdT eidf-ddad H Ydb el bl AT ot |

Q 5 The membership of a Member of Parliament ceases after a consecutive absence for how many days?

FAHfefEd ®§ 4 fobd & &Y oTdR 3guiAfd & dTe H9e & e Dl Fedl AT &1 SIdl & ?

Ops: A. 50 days
50 f

B. 30 days
30 f&

C. 60 days
60 fT

D. 90 days
90 f&T

Q 6 In which year a National Emergency was declared on the ground of 'internal disturbance'?

oo o ¥ '31Td R 3uga’ & 3MUR WR Uds IS 3MUTddhIA TNfSd fear mar &7 ?

Ops: A. 1971

B. 1965
C. 1999
D. 1975
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Q 7 Which is the only planet in the Solar System which is not named after a Roman mythological deity?

IR Hed BT UHHATS U B AT & ST 719 A0 URI0Ie &g & 91 W T8 & ?

Ops: A. Mercury

R
B. Earth
get

C. Neptune

T

D. Uranus

T

Q 8 Which of the following is NOT correctly matched?

frafered ¥ & B 78 BT & gafad 78 2 ?
Ops: A. Atomic Minerals Directorate for Exploration and Research-Mumbai
TRHTU] GfST 37907 Qd 37U FHeemes - g8
B. Nuclear Fuel Complex - Hyderabad
AT S TR - BT
C. Nuclear Power Corporation of India Ltd. -Mumbai

YRR ATDIT Jotf BRARA fAifies - grrg

D. Heavy Water Board - Mumbai
TS STcf §1E - Jris

Q 9 Which of the following rocks is not "acidic rock"?

frafafad § ¥ s @ ggm "3l Tgq" T8 € ?

Ops: A. Granite
DEIET
B. Rhyolite
TS

C. Dolerite
SIARTES

D. Pitchstone
i
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Q 10 Recently, BMP - T Terminator was in the news. It is related to -

Tl & ° SivAdl-& efiaex T=f o ol Ig defod @ -

Ops: A. Ballistic Missile system
dfcifed Harsa gorett

B. Armored fighting vehicle

SRS RS GGG
C. Assault Rifle
3T IS
D. Frag Grenade
W I8

Q 11 Which of the following is an anti-submarine warfare aircraft of the Indian Navy?

79 & @ B YRdTT F1T BT Teb Ugssit At Ggep fawm € 2

Ops: A. Dornier 228
SIfFaR 228

B. TH - 57
évg - 57

C. UAV Heron
gudt &1

D. Boeing P-81
ST P-81

Q 12 Recently , Indian Air Force test-fired Extended - Range brahmos Missile from which fighter Aircraft?
BT & W, YRAI 9 A7 7 159 w181 fan § faraiRa-¥s1 seie famset &1 wlieror fbar?

Ops: A. Sukhoi-30
gare - 30
B. Rafael
Al

C. HF - 24 Marut
UIU% - 24 H¥d

D. Mirage - 2000
fiRTST - 2000
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Q 13 Dicommissioned Indian naval ship (INS) Khukri planned to be converted into a museum in which
place
Jarfgd fby 0 MR RS STeTeT (INS) B BT T T N IR B b AT 2 ST

7 X3 g1

Ops: A Vishakhapatnam
faemaTaaTq

B.  Diu
EE]

C. Port Blair
I s’

D. Goa
T

Q 14 What is the name of sixth submarine of the P75 project of the Indian Navy which was launched by at
Mazgaon Dock Ltd?
YR FRAT 1 P75 IRATSHT bl B3 gest BT ATH T & TSI #eTid gieb feifAde gRT ol febar mam & ?

Ops: A. INS Kalvari

3TSTATH B

B. INS Khanderi
TSTATH W3t

C. INS Karanj
TSTATH Pl

D. INS Vagsheer
TSTATH AR
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Q 32 Who was the founder of the first search engine called 'Archie'?

'Y TG Ygael 9 Sof &b TLYTIDH P 3 ?

Ops: A. David Filo

sfds fisal

B. Alan Emtage
AR

C. Matthew Gray
Heg U

D. Martijn Koster
HIESTT PR

2 English 15 questions, 4 mark for correct ans, no negative marking

Q 1 Select the most appropriate meaning of the given idiom. Like a cakewalk

Ops: A. Smooth surface
B. Pleasant experience
C. Easy task
D. Active

Q 2 Select the most appropriate meaning of the given idiom. A green horn

Ops: A. Uneducated person
B. Inexperienced person
C. Clever person

D. Skilled person

Q 3 Choose the correct meaning of the given idiom. Bag and baggage

Ops: A. With burden
B. Without any aim
C. Without happiness

D. With all of one's possessions
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Q 4 Select the most appropriate meaning of the given idiom. Break the ice

Ops: A.
B.
C.
D.

Make people meeting first time feel uncomfortable
Make people meeting first time feel sad
Make people meeting first time feel more detached

Make people meeting first time feel more comfortable

Q 5 Select the most appropriate meaning of the given idiom. To smell a rat

Ops:

o 0N ® >

To have reason to know the presence of a rat
To have reason to suspect
To know the smell of a rat

To learn the smell of a rat

Q 6 Select the most appropriate meaning of the given idiom. Fair and square

Ops:

o 0w P

Honestly
Fair-skinned
Being vague

Good looking

Q 7 Select the option that can be used as a one-word substitute for the given group of words.

A piece of a living tissue or plant that is transplanted surgically

Ops:

o 0w P

Gratis
Gourmet
Gracious

Graft
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Q 8 Select the option that can be used as a one-word substitute for the given group of words.
Plants of a particular region

Ops: A. Flora

B. Flinch
C. Fauna
D. Flotsam

Q 9 Select the option that can be used as a one-word substitute for the given group of words.
One who does something not professionally but for pleasure

Ops: A. Professional
B. Mature
C. Immature
D. Amateur

Q 10 Select the option that can be used as a one-word substitute for the given group of words.
A place where coins and medals are made.

Ops: A. Office

B. Mint
C. Mine
D. Barn

Q 11 Select the INCORRECTLY spelt word.

Ops: A Finery
B. Hiest
C. Cringe
D. Defer



Q 12 Select the INCORRECTLY spelt word.

Ops: A.
B.
C.

D.

Peircing
Sleek
Pie

Itch

Q 13 Choose the incorrectly spelt word.

Ops: A
B.
C.
D.

Slaughter
Cropping
Traffickng

Tyrannical

Q 14 Select the INCORRECTLY spelt word

Ops: A
B.
C.
D.

Q 15 Choose the INCORRECTLY spelt word.

Ops: A.
B.
C.
D.

Cemetery
Accommodate
Intruder

Necessary

Texture
Slege
Savoury

Tamper
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3 Aptitude Test 60 questions, 4 mark for correct ans, no negative marking

Q1 Iftana =1/7, tan B =1/3, then cos 2a is equal to
Ifg tan a =1/7, tan B =1/3, @ cos 2a TR B

Ops: A. sin 23

B. sin 4p
C. sin 3B
D. cos 23

Q 2 Iftan 6 = a/b, then b cos 26 + a sin 20 is equal to
IS tan 6 = a/b, then b cos 26 + a sin 20 W& &

Ops: A. a
B. b
C. a/b
D. None
STH I BIS TEl

Q 3 The number of different four digit numbers that can be formed with the digits 2, 3, 4, 7 and using
each digit only once is

37 2, 3, 4 3R 7 Pl Pacl Ueb IR YA &d §Y §9 TR 37e! bl FRIT ST HepA dTei! fafi= T3l &l e

&8 |
Ops: A. 120
B. 96
C. 24
D. 100
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Q 4 The third term of a G.P. is 4, the product of the first five terms is
T TOTRR 0Tt BT TRRT U< 4 €, aF Werd T Ual ol oM & |

Ops: A. 1024

B. 256
C. 324
D. 964

Q 5 The coordinates of the foot of the perpendicular from the point (2, 3) on the line are

fig (2, 3) A Y& R G T o & uTa g o R 21

Ops: A (-6, 5)

B. (5, 6)
C. (-5, 6)
D. (6, 5)

Q 6 Letxl, x2, x3, x4, x5 be the observations with mean m and standard deviation s.
The standard deviation of the observations
kx1, kx2, kx3, kx4, kx5 is
AT AIfSTT U&I0T x1, X2, x3, X4, X5 &1 41 'm' Td A fooed 's' §
ar wefon kx1, kx2, kx3, kx4, kx5 T HH® fdae 2 :

Ops: A. k+s

B. sk
C. k/s
D. S
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Q 7 Aluminium is used for making cooking utensils. Which of the following properties of aluminium are
responsible for the same?
(i) Good thermal conductivity
(ii) Good electrical conductivity
(iii) Ductility
(iv) High melting point
G b P g1 g4 H YA BH 371dT &1 TIHIH & PI-F ToraH gHb g IRl & ?
(i) 3= 3T TATeTdmar
(ii) 3= fogLd TTetepdl
(i) d=aar
(DEESRIGEIED

Ops: A. (i) and (ii)

(i) ae (i)

B. (i) and (iii)
(i) e (iii)

C. (ii) and (iii)
(i) T (iii)

D. (i) and (iv)
(i) a2 (iv)

Q 8 An element A is soft and can be cut with a knife. This is very reactive to air and cannot be kept open
in air. It reacts vigorously with water. Identify the element from the following
T dcd A’ JATIH & 2T 3 a1 U HIel 5T HepdT &1 I8 a1g & Hfd 37cafeies fohanei & aeim arg # et g1
3G ST GebdT &1 UG STl &b 1 Yis 3Mfehar adn &1 FHfdfed § & g9 urg &l ugar-v-

Ops: A. Mg
B. Na
C. P
D. Ca
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Q 9 Which among the following alloys contain mercury as one of its constituents?

fefefad # § eF-dY fisrg # 7bd 39, T 37a9d & BU | 2T 8?

Ops: A Stainless steel
AT e
B. Alnico
C. Solder
qros?
D. Zinc amalgam
Sl 3eTH

Q 10 A student sitting on the last bench can read the letters written onthe blackboard but is not able to
read the letters written in his textbook. Which of the following statements is correct?
PET H HIH U8 o W dT PIS faenelf eamug W foie 3718RY 61 Ue Hepdl 8, T UTed e H foid 31eR]
B! 781 U8 udT| fF=fcfed ¥ SH-91 Uhed el & ?

Ops: A. The near point of his eyes has receded away

faemelf & 43 F1 e fig 377 ¥ 8 T 8

B. The near point of his eyes has come closer to him
faermeif & 9 &1 e fog 39P U 317 T 8

C. The far point of his eyes has come closer to him
fdermelf & 9 &1 gX fdg 39 U 317 T &

D. The far point of his eyes has receded away
faemeff & 73 BT R g TR R A AT 8

Q 11 Twinkling of stars is due to atmospheric

aRY & feAfeHT &1 BRUT R :

Ops: A. dispersion of light by water droplets
IS T ST gal gRT Tebrel & faaqoy

B. refraction of light by different layers of varying refractive indices

qrgHSeT H IRl 39adics! &l fafi=T TRl GRT YeBT2l BT 3qed
C. scattering of light by dust particles
AGHSAI YeT-BUTT GRT TebTLl BT HeplUid

D. internal reflection of light by clouds
&l GRT UBIL[ BT ATARDB TRTId 84



Q 12 Electrical resistivity of a given metallic wire
depends upon

fopalt U 7Y uTg & aR BT deggd wfaRgdr ik ot & aR

Ops: A. its length
BT TS W
B. its thickness

PI AleTs W

C. its shape
BT TSl W’

D. nature of the material

yeref Y UBfd W)

Q 13 A current of 1 A is drawn by a filament of an electric bulb. Number of electrons passing through a
cross section of the filament in 16 seconds would be roughly
fopeht fagd aca & fopamiic gRT 1 A &t STt 21 flheiie T 3TIIRY PIC I 16 b H FaTed Sadagi bl TAT
BT @I

Ops: A. 1023

B. 1016
C. 1018
D. 1020

Q 14 If the current I through a resistor is increased by100% (assume that temperature remains
unchanged), the increase in power dissipated will be

Ife; ot TfoRTee & garfed uRT § 100% g &< & S1Y; I8 ATV 1o ara sraRafdd &dT & af &ifda 391

Ops: A. 100%

B. 200%
C. 300%
D. 400%
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Q 15 Which of the statement is incorrect?

fAefafad wemt § ¥ B1F-971 B2 et 781 ¢ ?

Ops: A.

All green plants and blue green algae are producers

T & Ol 3R Fa-82 QAT 3dTed BId 3

Green plants get their food from organic compounds

X O 37YAT IS B fAd ATl T UTed Bd &

Producers prepare their own food from inorganic compounds

3ATEH T 37T YIS 37T s Al ¥ IR &d &

Plants convert solar energy into chemical energy

GIer HR 3HoTT Bl IMRIHS Hoil § dael ad &

Q 16 The maximum efficiency of a screw jack is

T U9 i s 31fadsdd &mdr 2|
Ops: A. (1 - sin@)/(1 + sin®)
B. (1 + sin@)/(1 - sin®)
C. (1 - tan@)/(1 + tan®)
D. (1 + tan®)/(1 - tan®)
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Q 17 Two blocks 'A' and 'B' of masses 150 kg and 50 kg respectively are connected by means of a string as
shown in the below figure. The tension in all the three strings will be.

2T SATRT BT T gt st STdTesT 150 fber 31R 50 foar sprer: T fou o fom § fezgmar mar i v & & Areay
d g gV 81 Tt diFT ar H o -

Il

THTHT

” 50 ko
50 kg

b=

Ops: A Same
T JHM e
B. Not Same
T THT &l &
C. Either A or B
A3drB

D. None of these

IR H F B MY &

Q 18 Which of the following statement is incorrect?

9 # & P I YT TeAd & ?
Ops: A. Force acting in the opposite direction to the motion of the body is called force of friction.
U go1 2RR & Mfd F faudta feem # 31 aor & ot el ST &1
B. Ratio of the limiting friction to the normal reaction is called coefficient of friction.
T wfdfesar & forg {9 fafid avor & 3rgurd avoT % oTies et STaT 2|
C. Machine whose efficiency is 100% is known as an ideal machine.

U T2 ST g&rdT & Uds 31meef T2fiF & ®u # 100% THT STrdt Bl

D. Velocity ratio of a machine is the ratio of load lifted to the effort applied.

Tep Hf T AT 31gUTd 17, febq T AT & fefq 38TY 7Y HR T 373UTd 2
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Q 19 A ladder is resting on a rough ground and leaning against a smooth vertical wall. The force of friction
will act

Tep ST febelt 7 STHIT TR 3R & XET € 3R T faifebil @St SR & f&eTTh gebra 81 BovT gt It P
czull

Ops: A. Downward at its upper end

TP W R W T A 3R
B. Upward at its upper end
3P JWI FIR R HR I 3R
C. Zero at its upper end
b FWT R W =
D. Perpendicular to the wall at its upper end

g% ST BIs W IR I dddd

Q 20 A number of forces acting at a point will be in
equilibrium, if

Uep fdig W 31T Il & U FeR HdeT | &l ST, 3R

Ops: A. All the forces are equally inclined

Tt 9 THE BY H b gT

B. Sum of all the forces is zero
Wit Tt 3 T o= #

C. Sum of resolved parts in the vertical direction is zero (i.e. 2V = 0)
SR f&em § g fhg T Wl BT AT = & (i.e. ZV = 0)

D. None of these
S0 § BIg | Tel

Q 21 If an average person jogs, he produces 14.5x103 cal/min. This is removed by the evaporation of
sweat. The amount of sweat
evaporated per minute (assuming 1 kg requires 580x103 cal for evaparation) is
Ife BIS AT Afdrd HeR Tfd T IetaT & df 8 14.5%103 cal/min. & arsy9 &dT &1 I8 H™T 9HI & s
F 2RR F A STt 81 I 91d g1 s 1 kg T & arsqe & fg 580% 103 cal @1feg d« ufd fAee arfsia
TR BT gRHATT &

Ops: A. 0.25 kg
B. 2.25 kg
C. 0.05 kg
D. (0.20 kg
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Q 22 An aluminium sphere is dipped into water.

Which of the following is true?

fepdit UgfHiAam & et ol Siel § garam T 81 Hfeifed # BiH-91 e[ a0 & ?

Ops: A.

Buoyancy will be less in water at 0°C than that in water at 4°C.
4°C STl &1 otT H 0°C STl H 3ceATd-dT B il |

Buoyancy will be more in water at 0°C than that in water at 4°C.
4°C STl I g1 H 0°C ST H 3ccAtd-ar 31fees gt

Buoyancy in water at 0°C will be same as that in water at 4°C.
0°C ST H 3c&TTa—dT 4°C STl @l STaar e gl |

Buoyancy may be more or less in water at 4°C depending onthe radius of the sphere.

4°C ST § IccATadl H a7 37 g1 Mol ol fHsar i) ik g

Q 23 Heat is associated with

T gl Bl &
Ops: A. kinetic energy of random motion of molecules.
3op3it Y AT T B ST Fetf
B. kinetic energy of orderly motion of molecules.
370737t Y rafeRr T B e Fotf F)
C. total kinetic energy of random and orderly motion of molecules.
HUL3T B ATgfeded Td AaRed Tl @Y et st Foff Al
D. kinetic energy of random motion in some cases and kinetic energy of orderly

motion in other.

$B YR K ATGIBP Tl BT IfAST FHoll F qUT 31 Favll H Fafxed Tfd b midst SHoff J1
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Q 24 A man squatting on the ground gets straight up and stand. The force of reaction of ground on the
man during the process is

STHI TR 3ehg ST §31T Teb cfehl 36epY ATHT WeT BIT &1 $H WfshdT H eAferi TR o7 aTell et &1 ufdfehar

El

Ops: A.

constant and equal to mg in magnitude.

3yRafdd Igd1 & 3R uReTor § mg & sRTeR 81T &l

constant and greater than mg in magnitude.

3gRafdd Tgar & 3R aRRmTor § mg § 31foe grar g1

variable but always greater than mg.

IRY YR 9¥g IRATOT § He&a mg ¥ 31fde

at first greater than mg, and later becomes equal to mg.
IRY W mg ¥ 31fd glar € TR §1& § mg SRTeR &1 ST 2|

Q 25 Which one of the following statements is true?

A=fafEd § BH-A1 BT I 8 ?
Ops: A. A scalar quantity is the one that is conserved in a process.
sifeer wfer ag Bt € S faseit wfepar  wRfeid et 1
B. A scalar quantity is the one that can never take negative values.
srf&er el ag Bt € forgesT A Berft FoTleTds 78! &) ATl
C. A scalar quantity is the one that does not vary from one point to another in space.
srfer wrfel ag gidl & forest AT 31eprel § e fag & g feig W 78! geerar|
D. A scalar quantity has the same value for observers with different orientations of the axes.

31f&er Irfer 1 | 31ef 9w fafi= fa=mal # fea Defp! & faiw IuM 8T 2

Q 26 A box has 100 pens of which 10 are defective. What is the probability that out of a sample of 5 pens
drawn one by one with replacement at most one is defective?
U girg B 100 BT 3, fS 98 T 10 aTq @RI 21 39 d1d hl WTfidedT T § s ufdwenfua & arer fdy ves-
T B TR MY 5 et & et A ¥ 34U & 31 1 pod wRE 2,

Ops: A.
B.
C.
D.

(0.9)5

0.5 x (0.9)4

0.5 x (0.9)5

(0.9)5 + 0.5 x (0.9)4
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Q 27 The average of five numbers is 62. The averae of first two numers is 59 and that of last two numbers
is 63. Find the third number.
Ui T3 BT 371d 62 &1 Uga! &l T3l &7 31RId 59 © 3R 3ifdd & Fwamsil &1 3id 63 &1 TNl I

SIGIGE
Ops: A. 62
B. 66
C. 63
D. 64

Q 28P, Q, R, S and T are consequtive even numbers in increasing order. The sum of R and T is 184. Find
the value of P.
P, Q, R, SR T 9&d gV hH H shifHcs TH WU &, R 3R T &1 AT 184 71 P AT 1|

Ops: A. 80
B. 84
C. 88
D. 86

Q 29 What can replace the question mark (?) in the following question?

FAAfefEd 927 § U9T famg (?) B fhaxy wfawafud fsar S dodr g ?
74362 x 93 = ? x 53206

Ops: A. 120
B. 125
C. 310
D. 130
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Q 30A and B can do work in 12 days, B and C in 15 days and A and C in 20 days. In how many days can
A,B and C together do the work?
A 3IR B U &I &I X B H 12 GT od €, B 31k C 15 &7 3R A 31k C 20 &7 &1d 21 A, B 31R C fRda=
39 B Pl fsaq AT § BT ?

Ops: A. 9 days
9 f&ar
B. 12 days
12 et
C. 10 days
10 &t
D. 5 days
5 f&ar

Q 311n a college, 30% students fail in physics, 25% fail in mathematics and 10% fail in both. One student
is chosen at random. The probability that she fails in physics if she has
failed in mathematics is
fopeit meTfdaera #, 30% faamelf Wifaews fagm # sidiof e | €, 25% 7foia # il gid & aam 10% Al
fawal # 3rgctofl gld 81 Uep faemelf argesar gAT SI1dT €1 9 91d & UTfddhdl & a8 Hifde fdasi § srdiof 8,
gfe, ag Tord ® 3ol & I 2l

Ops: A. 1/10
B. 2/5
C. 9/20
D. 1/3

Q 32 At what rpm should a lathe be run to give a cutting speed of 25 m/min when turning a rod of
diameter 32 mm?

U TR Bl fdsd rpm TR IA™™IT ST A1feV dTfds 25 Hiex / fiFe & fa &Y 1fd I 32 fift g &t tes B8
BT 1T B ST b ?

Ops: A. 100 rpm
B. 160 rpm
C. 200 rpm
D. 250 rpm

92



Q 33 Seamless tubes are made by

HHH R 74 gRT 9478 STt 8
Ops: A. piercing operation

oIy

B. hot forging
e ISt

C. power rolling
qTaR e

D. none of the above
IR H F BIS TE

Q 34 Which material is used for making electric magnets?

faggagrIes & v foodr aref & yger fosar ST &

Ops: A. Grey cast iron
U BPRE 3R

B. white cast iron
e BRE 3RRA

C. malleable cast iron
AT BRE 3R
D. pig iron
for 3R

Q 35 Cemented carbide tools are not used for machining of which of the following?

s Prafee ¢ [ # 4 foog Pl Here & iy 3ugerd T8 2 ?

Ops: A. Steel

el
B. Cast iron
PIRC 3T
C. Brass
qraet
D. Aluminium
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Q 36 German Silver is mainly alloy of which of the following?

STHA fAeer 43 ®u § 17+ &1 Ay urg @
Ops: A. Pure Silver
NI
B. Silver and Copper
EICRIEGIC]
C. Nickel, Copper and Zinc
e, aar 3R ST
D. Silver and Gold
it 3R AT

Q 37 Copper is:
GIELEGS

Ops: A.

Difficult to be welded by spot welding
feig afeST BT gfedhet &

Easy to be welded by spot welding
feig AfceT & 31 2

Suitable for spot welding

firg Afcem & fore 3ugam &

none of the above

T A B1g ol T

Q 38 Which of the following has lowest melting point?

7 7 3 fooaeT Tadie Je B &
Ops: A. Copper
GIEH
B. Brass
qraet
C. Brazing Solder
ST ey
D. Soft Solder
Hg Hiee?
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Q 39 The oxygen cylinders are:
fafeier foram sifeRftotT Wt STt 8, d -

Ops: A. made by casting
TATE GRT Wfsihe B U 8l &

B. made by welding

AfeT gRT Bfidee 50 gu e &
C. made by forging

IS gRT thfaihe 53 §Y B &

D. seamless steel cylinders

HiHed EieT fAfeie? 81d 8

Q 40 Cast iron & steel pipes are casted by -
EAdT dle 3R ST DI Y8y Eail SiTd! 8-

Ops: A. Die casting

TS TS GRT

B. True centrifugal casting
T 3Ubled el GRI

C. Permanent mould casting
TS BT SATS GRT

D. Slush casting
T2 TATE GRT

Q 41 The increase in hardening by cold working is called-

3UET BUUT YehH GRT HaRal H Jlg dadrdl & -

Ops: A. Work hardening

g greHT

B. Hot hardening
st wrSf

C. Cold hardening
Pleg gSHAT

D. Age hardening
N



Q 42 Whenever the surfaces in contact tend to move or move with respect to each other, the force of
friction comes into play

STd Ueh-gHY b HUSh # HIY Y TS AIUST TTfd B3 AT TIfd B @b Hgfd & T &sor et

Ops: A. only if the objects are solid.
Fad T BRI BAT € ST JGT 1 B

B. only if one of the two objects is liquid.
el THT BRI BT & STel AT a¥g3T § F Vb &g gl
C. only if one of the two objects is gaseous.
Pael Ml BRI BT & ST QAT GG H F v W 2
D. irrespective of whether the objects are solid, liquid or gaseous.

9 R R 7E ot b avg@ o, @ ar i &

Q 43 Motion of a ball bearing inside a smooth curved bowl, when released from a point slightly above the
lower point is
fept afur Ifga afshd WTell & 3ieX STq foBd! STcfdaRi BT 38 ([HdH fig & SRT HW I BIeT SIdT1 & af
EREARIGH

Ops: A. simple harmonic motion.

I 37ad T eIl 2

B. non-periodic motion.
3HTEd! Tid 8l &l

C. periodic motion and simple harmonic motion.
Tad! G IR 3Tdd Tfd 8l &l

D. periodic but not S.H.M.
3Tad! a1 BT & UG IR 37ad TMid T8l ardt

Q 44 Which of the following statements is incorrect?
fAAfafad & ¥ ®H-I7 BT Tad & ?

Ops: A. Friction acts on a ball rolling along the ground.
HeT H ofedbd! 1a W TYUT §cf @TdT 2l
B. Friction acts on a boat moving on water.
U # Tt gS A1 W YT gl AT 2l
C. Friction acts on a bicycle moving on a smooth road.

It Fgh W Ied! g8 IS Hebel TR T Icf oIl B

D. Friction does not act on a ball moving through air. 9%

AT H IeAd! §S e W g0 T T& o7TaT 2|



Q 45 An object of mass 2 kg is sliding with a constant velocity of 4 m s-1 on a frictionless horizontal table.
The force required to keep the object moving with the same velocity is

2 kg S BT B1S fuue fobdl avurgi &fdst #5T R 4 m s-1 & gd 97 4 {thdel 381 81 o9 a¥g fob gt amm
 TIfd gAY I&A & AT 3AT92Tb e &

Ops: A. 32N

B. ON
C. 2N
D. 8N

Q 46 A girl stands on a box having 60 cm length, 40 cm breadth and 20 cm width in three ways. In which
of the following cases, pressure exerted by the box will be

BIE deh! 60 cm oW, 40 cm IS T 20 cm I febelt gTerg R A ST & Bel grdt 21 ST gRT oTTaT 7T

[AG)
Ops: A. maximum when length and breadth form the base

qe 3fedH BT STd 3R WIS d digls J 97 8

B. maximum when breadth and width form the base
T 31fEiepdd g STg 3TUR Ttere g 3976 T a1 &

C. maximum when width and length form the base
aq 3rfiedd BT 59 3R 397E T od1s J 97 3

D. the same in all the above three cases
SWRI AT YBROT H FHH BT

Q 47 An electric kettle consumes 1 kW of electric power when operated at 220 V. A fuse wire of what
rating must be used for it?
1S fag[d el 220 V W Fafeid 814 W 1 kW fagd erferd 3mderd dect 21 38 fey by 3rgHdie & WISl
IR &7 39aT fosar ST Tnfey ?

Ops: A. 1A
B. 2A
C. 4A
D. 5A

97



Q 48 The focal length of the eye lens increases when eye muscles

T o BT U gt ¥ gfg B STt € 579 A Y afer:

Ops: A.

Q 49 What is the maximum resistance which can be made using five resistors each of 1/5 Q?

are relaxed and lens becomes thinner

forfera grdY € dem o9 udeT g Sidr @
contract and lens become thicker
fagpedt € qam oI Hier € Srar @

are relaxed and lens becomes thicker

forferet 2rdt € dem &g AT 8 SIrdT @

contract and lens become thinner

Ripedt € e o uder & Sfar ¢

UTer wfeRTere], fSH Iies &1 UfcRTe 1/5Q €, &7 3UaNT @ed b 3ifeiesan UfaRIer §-7aT ST HebdT & ?

Ops: A.
B.
C.
D.

1/5Q
10 Q
5Q
1Q

Q 50 The sum of the digits of a two-digit number is 9. If 27 is added to it, the digits of the number get
reversed. The number is

2T 3T DI b TAT P 3ihT BT AT 9 21 AT SN 27 SiTS, dl 9 JAT & 37 UYaic Siid &l g8 IIT &

Ops: A.
B.
C.
D.

25
72
63
36
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Q51(x2 + 1)2-x2 = 0 has
IHIHIOT (x2 + 1)2-x2 =0

Ops: A. four real roots
¥ IR IATIH I &
B. two real roots
& A IRAfAP qe B
C. no real roots
F PIE IRAfdd Jd &l &
D. one real root.
EARGICISICE R G

Q 52 If the numbers n-2, 4n -1 and 5n + 2 are in AP, then the value of nis :

Ife FWATT n-2, 4n -1 31 5n + 2 Tt AP & € @1 n &7 79 2T

Ops: A. 3
B. 2
C. 1
D. 4

Q 53 The point which lies on the perpendicular bisector of the line segment joining the points A (-2, -5)
and B (2,5)is
fdg3ii A (-2, -5) 31R B (2, 5) &I fA@H dTel 1&TES & oid FHIgHTSTh W T T fdg @

Ops: A. (0, 0)

B. (0,2)
C. (2,0
D. [ (-2,0)

Q 54 If the points A (1, 2), O (0, 0) and C (a, b) are collinear, then
afe fdg A (1, 2), 0 (0, 0) 3R (a, b) W &€, ar

Ops: A a=>b
B. a=2b
C. 2a=D
D. a=-b
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Q 55 If sinB - cosB = 0, then the value of (sin4 6 + cos4 0) is
If& sinB - cosB = 0 2 al (sin4 8 + cos4 B) BT HIF &

Ops: A. 1
B. 3/4
C. 1/2
D. 1/4

Q 56 If the perimeter of a circle is equal to that of a square, then the ratio of their areas is

Ife Gob gl T IRATY, Teb a1f b TRATY & aRIER &, dl 390 &bl Pl 31T 2

Ops: A. 22 :7

B. 14: 11
C. 7:22
D. 11: 14

Q 57 Twelve solid spheres of the same size are made by melting a solid metallic cylinder of base diameter
2 cm and height 16 cm. The diameter of each sphere is

ATUR T 2 cm 3R 3a1$ 16 cm dTet ¥Td % T 31 S B {Ueel X THIHTY & IRE 31 el g1 ST
g1 ISP el BT AT 81T

Ops: A. 4 cm

B. 3 cm
C. 2cm
D. 6 cm

Q 58 The number of possible outcomes when a coin is tossed 6 times is

TfE T b &Y 6 IR IBTAT SITAT & a1 THd TROTAT BT I gt

Ops: A. 36
B. 64
C. 12
D. 32
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Q 59 The two successive terms in the expansion of (1+x)24 whose coefficients are in the ratio 1:4 are

(1+x)24 & 9GR # 3 3TRRR U<, {59 & Turiepl &1 33u1d 1:4 8, FAfoifed g

Ops: A 3rd & 4th
TRIRT 3R TteT

B. 4th & 5th
gterr 3R gTaat

C. 5th & 6th
YTrat 3R 8oT

D. 6th & 7th
BT 3R Irddi

Q60Iff(x) =1+ x+x2+ x3 ...+ x99 + x100, then f' (1) is equal to:
IRF(X) =1+ X +x2 +x3 ... +x99 + x100, a¥ f' (1) &1 HF B

Ops: A. 5050

B. 5049
C. 5051
D. 50051
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1 General Awareness 30 questions, 4 mark for correct ans, no negative marking

Q 1 Which of the following is a Harappan port?
AAffEd § F PF-TT T 8T BT §&0T8 © ?

Ops: A Alexandria

[GEZATe))

B. Lothal
GIEGH

C. Mahasthangarh
HERRITTS

D. Nagapattanam
ATTYSAH

Q 2 The British established its first commercial factory at
ST A 37YAT USeT ATUTRSG BREMT dal LTfud fbar ?

Ops: A Surat in 1610

1610, gd
B. Amargaon in 1611

1611, 319301Td
C. Hoogly in 1626

1626, greft

D. Masulipatnam in 1611

1611, AgeiTagTH

Q 3 What were the symbols of Indian Nationalism?

VRART ST BT Ufdds T & ?

Ops: A Charkha-Khadi
TRET - Gt
B. Ashok Chakra- Talwar
372Mp Tk - deTdR

C. Lathi-Ainak
T3t - VAP
D. None of the above
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Q 4 Which of these statements is TRUE with regard to the poem "Amar Sonar Bangla' penned by
Rabindranath Tagore?

IdigATer TR gRT fodt 1€ fddT IMRIAAR ST ' & oy § fefafed § F o 91 weF 987 & ?

Ops: A. It was Tagore's first ever poem.
g R BT Ugad! bfddr ot |
B. This poem later was adopted by Bangladesh as its national anthem.

S BfgdT Bl 18 W FiTATS2l 7 3799 IS &b BY § 379977

C. This poem fetched Tagore the Nobel Prize.
3 PfddT & foiv IR BT Fded REPR feam 7|

D. The poem was a school prayer at Shantiniketan.

g BIdT eidf-ddad H Ydb el bl AT ot |

Q 5 The membership of a Member of Parliament ceases after a consecutive absence for how many days?

fAHfefEd # 4 fosd & &Y R 3gulkAfd & 1 T8¢ & e 6l Fe=dl AT &1 SIdl & ?

Ops: A. 50 days
50 f1

B. 30 days
30 fea

C. 60 days
60 fT

D. 90 days
90 f&T

Q 6 In which year a National Emergency was declared on the ground of 'internal disturbance'?

oo o ¥ '31Td R 3ugd’ & 3MUR WR Uds IS MUTddhIA TNfyd fsar mar &7 ?

Ops: A. 1971

B. 1965
C. 1999
D. 1975
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Q 7 Which is the only planet in the Solar System which is not named after a Roman mythological deity?

IR Hed BT THHATT Ug BIF AT & ST 719 A0 URI0Ie &g & 91 W T8 & ?

Ops: A. Mercury

R
B. Earth
get

C. Neptune

T

D. Uranus

RG]

Q 8 Which of the following is NOT correctly matched?

frafered ¥ & B w8 BT & gafad 78 2 ?
Ops: A. Atomic Minerals Directorate for Exploration and Research-Mumbai
TRHTU] GfoT 37907 Qd 37U Feemes - g8
B. Nuclear Fuel Complex - Hyderabad
AT S TRIR - TRETE
C. Nuclear Power Corporation of India Ltd. -Mumbai

YRR ATHST o1t BRARA fAifies - grrg

D. Heavy Water Board - Mumbai
TS STcf §1e - Jris

Q 9 Which of the following rocks is not "acidic rock"?

frafafad § ¥ s @ ggm "3l TgE" T8 € ?

Ops: A. Granite
DEIET
B. Rhyolite
ATATES

C. Dolerite
EGINES]

D. Pitchstone
i
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Q 10 Recently, BMP - T Terminator was in the news. It is related to -

Tl & # SivAdl-& efiaex T=f o ol Ig defod @ -

Ops: A. Ballistic Missile system
dfcifed Harsa gorett

B. Armored fighting vehicle

S¥IRES dIslPp dTgd
C. Assault Rifle
3T IS
D. Frag Grenade
ERCES

Q 11 Which of the following is an anti-submarine warfare aircraft of the Indian Navy?

79 & @ B YRdTT F1T BT Teb Ugssit At Ggep fawm € 2

Ops: A. Dornier 228
SIfaR 228

B. TH - 57
évg - 57

C. UAV Heron
gudt &

D. Boeing P-81
ST P-81

Q 12 Recently , Indian Air Force test-fired Extended - Range brahmos Missile from which fighter Aircraft?
B & W, YRAI 9 A7 7 16 w181 fan § faraRa-¥s1 seie fimset &1 wlieror fbar?

Ops: A. Sukhoi-30
garg - 30
B. Rafael
Al

C. HF - 24 Marut
UIU% - 24 H¥d

D. Mirage - 2000
fiRTsT - 2000
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Q 13 Dicommissioned Indian naval ship (INS) Khukri planned to be converted into a museum in which
place

JaTgd fby 7T HRGRT AP STerst (INS) Gebdl Bl Ueb HURT@d H URed &3 Pl ATl & ST
¥ fgd 21

Ops: A Vishakhapatnam
faemaETaaTq

B.  Diu
EE]

C. Port Blair
I s’

D. Goa
T

Q 14 What is the name of sixth submarine of the P75 project of the Indian Navy which was launched by at
Mazgaon Dock Ltd?
YR FRAT 1 P75 IRATSHT bl B3 gest BT ATH T & TSI #eTid gieb feifAde gRT ol febar mam & ?

Ops: A. INS Kalvari

3TETATH B

B. INS Khanderi
TSTATH W3t

C. INS Karanj
TSTATH Pl

D. INS Vagsheer
TSTATH AR

Q 15 Which of the following plays vital role in photosynthesis?
fafEd § 9 P gebrer Heawor § Heeaquf yfdest fqrar & 2

Ops: A. Chloroplast
eRd wa®
B. Centrosome
AR b

C. Tonoplast

D. Nematoblast 107
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Q 16 Which of the following part of the plant participate in sexual reproduction-
G T FA=feferd # O B - 91 881 oiffies ST § 11T o1 @ -

Ops: A.

Leaf

Root

Flower

Stem

Q 17 Which one of the following diseases in humans can spread through air?

HHaT # fAHffed ® & oH-91 0, arg gRT Yol JebdT & ?

Ops: A.

Dengue
7,
Tuberculosis

&ra AT

HIV-AIDS
T TS It ged

Goitre

oET

Q 18 Loudness of sound can be determined by

@ bl UgatdT e gRT HUiRd 6T ST Jabdl & ?

Ops: A.

Amplitude of vibration

DU BT 3TITH

Ratio of amplitude and frequency of vibration
3TITH 3R YA BT 31Tl &1 3aTd

Frequency of vibration

U BT g

Product of amplitude and frequency of vibration

3TTATH 31 &0 BT g BT 3T
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Q 19 In which medium light travels fastest?
BTl T AT W e o<t fd I Iadl & ?

Ops: A. Glass

CAE)
B. ( Air
g

C. Diamond

ERT

D. Vacuum

GEIG

Q 20 Which of the following place experience the least force of gravity?

AfefEd # 8 P A1 W a8 B TSI g BT 31T Bdl & ?

Ops: A. Equator
A Em
B. Poles

gd
C. A point between equator and a pole
VAe 3T 3R Yyd & i 61 g fag
D. None
B1g el

Q 21 Naphthalene balls disappear with time without leaving any residue because of

ABYAH D MG {67 DI 379 Blg THY P 1 & St 8, fbdd BRUT?

Ops: A. Sublimation
RASEIGE]

B. Evaporation

CILCEI

C. Diffusion
faazor

D. None of the above

T q B8 ol T
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Q 22 Which emperor's army did Maharana Pratap fight in the Battle of Haldighati?
EIITET & g W HERTUT UdTd F HHIS Pl I 6T g fobam ar?

Ops: A.
B.
C.

Mahmud Shah HgH< Mg

Humayun ‘gTrRi
Ibrahim Lodi
ELURCKGIG

Akbar 37dheR

Q 23 Deficiency of which of the following nutrients is the most common cause of goiters?

fafafad & 3 {9 Uiy da & S, o9 I BT T BROT 87

Ops: A.

Iron
ATIRT

Vitamin C
faerfia C

Calcium

Hfeoray

Iodine

TS

Q 24 Second generation computers can be characterized largely by their use of

Jd5g SR &b BRI B & IUANT gRT 9 Y0 IR afvla fosar 11 et 21

Ops: A.

Integrated circuits
Vacuum tubes

dRH =@

Microprocessors
Transistors

giforex
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Q 25 Which force helps swimmers float in water?

PIT T I RTb! BT IHT & oA H Heg HBdT 87

Ops: A.

Q 26 In which of the following locations was the Global venture Capital Summit 2018 held?
fiefefea ¥ O el R T@led dR Sfted dfie 2018 3maford far i o ?

Ops: A.

Q 27 The Sunauli border is a famous transit point between India and

Muscular force
AU a1
Frictional force

YT g7

Buoyant force
AT ded

Magnetic force

REEAREL]

Mumbai
:CF]
Pune

oo

Ahmedabad
gHaldTa

Goa

e

ETet FHT YRd 3R
Ops: A Myanmar

RIAR

B. Nepal
ELIGH

C. Pakistan
qTfehedT

D. Bhutan
e

& did T g gifofe wrse 82
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Q 28 The Walayar Dam is in which district of Kerala?
ITETIR 1Y B b b foiel H 2?

Ops: A Kasaragod
PRRME

B. Palakkad
EGESEC]

C. Thrissur
dRR

D. Idukki
EECEAl

9

Q 29 With which of the following sports is Karan Chandhok associated?
O] G FAFfafed ¥ 3 fiog 9@ & ddfud €2

Ops: A. Lawn Tennis
GIERAGS:]
B. Badminton
defriea
C. Table Tennis
e A

D. Car Racing
PR IAFT

Q 30 Which is the coldest place in India?
HRA H a8 3T U P AT 2?

Ops: A. Amarnath
3HIATY

B. Dras
o

C. Leh
e

D. Srinagar
SR
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2 English 30 questions, 4 mark for correct ans, no negative marking

Q 1 Select the most appropriate meaning of the given idiom. Like a cakewalk

Ops: A. Smooth surface
B. Pleasant experience
C. Easy task
D. Active

Q 2 Select the most appropriate meaning of the given idiom. A green horn

Ops: A. Uneducated person
B. Inexperienced person
C. Clever person

D. Skilled person

Q 3 Choose the correct meaning of the given idiom. Bag and baggage

Ops: A. With burden
B. Without any aim
C. Without happiness

D. With all of one's possessions

Q 4 Select the most appropriate meaning of the given idiom. Break the ice

Ops: A. Make people meeting first time feel uncomfortable
B. Make people meeting first time feel sad
C. Make people meeting first time feel more detached
D. Make people meeting first time feel more comfortable
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Q 5 Select the most appropriate meaning of the given idiom. To smell a rat

Ops: A To have reason to know the presence of a rat
B. To have reason to suspect
C. To know the smell of a rat
D. To learn the smell of a rat

Q 6 Select the most appropriate meaning of the given idiom. Fair and square

Ops: A. Honestly
B. Fair-skinned
C. Being vague
D. Good looking

Q 7 Select the option that can be used as a one-word substitute for the given group of words.
A piece of a living tissue or plant that is transplanted surgically

Ops: A Gratis
B. Gourmet
C. Gracious
D. Graft

Q 8 Select the option that can be used as a one-word substitute for the given group of words.
Plants of a particular region

Ops: A. Flora

B. Flinch
C. Fauna
D. Flotsam
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Q 9 Select the option that can be used as a one-word substitute for the given group of words.
One who does something not professionally but for pleasure

Ops: A.
B.
C.

D.

Q 10 Select the option that can be used as a one-word substitute for the given group of words.
A place where coins and medals are made.

Ops: A.
B.
C.
D.

Q 11 Select the INCORRECTLY spelt word.

Ops: A
B.
C.
D.

Q 12 Select the INCORRECTLY spelt word.

Ops: A
B.
C.
D.

Professional
Mature
Immature

Amateur

Office
Mint
Mine

Barn

Finery
Hiest
Cringe

Defer

Peircing
Sleek
Pie

Itch

115



Q 13 Choose the incorrectly spelt word.
Ops: A. Slaughter
B. Cropping

C. Traffickng

D. Tyrannical

Q 14 Select the INCORRECTLY spelt word

Ops: A. Cemetery

B. Accommodate
C. Intruder
D. Necessary

Q 15 Choose the INCORRECTLY spelt word.

Ops: A Texture

B. Slege
C. Savoury
D. Tamper

Q 16 Select the most appropriate synonym of the given word.
Competent

Ops: A. Complex

B. Poor
C. Capable
D. Beginner
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Q 17 Select the most appropriate synonym of the given word.

Announce
Ops: A. Denounce
B. Secret
C. Hide
D. Advertise

Q 18 Select the most appropriate synonym of the underlined word in the given sentence.

The sporadic instructions of the invigilators distracted the examinee.

Ops: A. Continuous
B. Indirect
C. Repetitive

D. Occasional

Q 19 Select the most appropriate synonym of the given word.
Transient

Ops: A Transform

B. Temporary
C. Transmit
D. Trap

Q 20 Select the most appropriate synonym of the given word.
Moral

Ops: A Ethical
B. Honourable
C. Godliness

D. Symphony
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Q 21 Select the most appropriate synonym of the given word.
Exaltation

Ops: A. Dejection
B. Ecstasy
C. Satisfaction

D. Elaboration

Q 22 Select the most appropriate ANTONYM of the given word.
Rebellion

Ops: A. Uprising
B. Loyalty
C. Sedition
D. Allotment

Q 23 Select the most appropriate ANTONYM of the given word.
Hospitality

Ops: A. Complaint

B. Cordiality
C. Coldness
D. Wrathful

Q 24 Select the most appropriate ANTONYM of the underlined word.

Failure to carry hall ticket to the exam is considered as a trivial issue.

Ops: A. underrated

B. kind
C. problematic
D. serious
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Q 25 Select the most appropriate ANTONYM of the given word.
Casual

Ops: A. Spiritual
B. Personal
C. Formal

D. Traditional

Q 26 Select the most appropriate ANTONYM of the given word.

Conceit
Ops: A Concealment
B. Reveal
C. Modesty
D. Hidden

Q 27 Select the most appropriate option to fill in the blank.
The angles are equal, consequently the sides are _.

Ops: A. equal

B. unequal
C. larger
D. smaller

Q 28 Select the most appropriate collocating word to fill in the blank.

Ram was praised for his leadership.

Ops: A. imaginary

B. visionary
C. magical
D. broad
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Q 29 Select the most appropriate option to fill in the blank.
The doctor directed the nurse to administer an medicine to the patient.

Ops: A. official

B. eminent
C. alternative
D. insightful

Q 30 Select the most appropriate option to fill in the blank.

If you try to do something every day you will progress.
Ops: A. hold

B. get

C. make

D. catch

3 General Intelligence & Reasoning 30 questions, 4 mark for correct ans, no negative marking

Q 1 In a certain language, CHHAPAK is coded as DJKEUGR. How will MALANGA be coded in that
language?
Ues fAfead goe Mo H CHHAPAK @1 DIKEUGR & %Y | Geedg fosam Sirar 21 33 e WroT H MALANGA &1
o B H Ppedg fbar SR ?

Ops: A NCEOSMC
B. NCOCSMC
C. NCOESMH
D. NCOCMSC
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Q2

Ops:

Q3

Ops:

Q4

Ops:

Amit, Gaurav, Hatim, Varun, Yukti and Zaid are sitting in a straight line, all facing the north. Gaurav is
fourth to the left of Amit. Yukti is sitting at one corner. Hatim is fourth to the left of Yukti. Zaid is third
to the right of Gaurav. Who is sitting at the second place to the left of Zaid?

wifid, T, wfa, T0T g 3R Sie T A ofe ¥ 95 ¢ it 3R Rem B 3R sifige 1 ke, 3fid B
IR Y W W 21 Gfekd b fBAR W I3t 21 gIfa, ferd & 9 A T W 21 Si, TRT & e dRR AT
W gl Sl &b IR GEY VI W B d3T 2 ?

A. Varun
gau7
B. Yukti
gferd
C. Hatim
GIGL]
D. Amit
7fAa

Select the correct combination of mathematical signs that can sequentially replace the * signs and
balance the given equation.

60 * 48 * 36 * 6 * 15 * 53

U R & 39 Hel FAIoH 6l I o 158 1 1T 77 AT # * fagl & M W shiHe B H 3@
 FHIROT Hfeid 8 ST

60 * 48 * 36 * 6 * 15 * 53

A. +, =, -, X, =
B. +, 5, %X, -, =
C. ,+, X, -, =
D. X, =, + =

Select the number from among the given options that can replace the question mark (?) in the
following series.

237, 196, 155, 114, ?

QMg faeeat ¥ ¥ g8 T gy o fAEfafEd Aoit & gedares fame (?) & &M W 3 Johd 2
237, 196, 155, 114, ?

A. 47
B. 98
c. 73 121
D. 64



Q 5 Select the combination of letters that when sequentially placed in the blanks of the given series will
complete the series.
_Z_C_LZ_C_L_X_VL___V
3ERT & 3T TSI BT IIT Px ol & T8 YT &b Rt TN H B B F IW ST W I §HAT BT gof
BT
_Z_C_LZ_C_L_X_VL___V

Ops: L, X, V,X,V,ZC,Z X, C
X, Z,L,XV,ZCCCL
L, X,C, X, V.C,ZC,ZC
L, X,V,V,X,C,C X, 2 Z

OO0 w P

Q 6 If'@' means 'addition’, '%"' means 'multiplication’, '$' means 'division' and '#' means 'subtraction’,
then find the value of the following expression.
29@ 128 $16 % 7 # 22

Il '@ 7 31 'S B, ‘%' BT 37 T &, '$' BT 312 M R 3R # BT 31w B, Y FAHfafad dsie

&BT HF ATd BT
Ops: A. 58

B. 47

C. 63

D. 23
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Q 7 Select the option in which the given figure is embeded (rotation is NOT allowed).
39 fadea &1 aa7 & S <t 18 3napfd Af=fed 2 (g HY 3rgafd T8 2)

N

3216851

Ops: A
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Q 8 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is
shown in the following figures. How would this paper look when unfolded?

fAifcd smepfadl § BTTeT & U gabs Bl HIgd &1 A 3R Hg U BIIST DI BIed BT i [E@mT 7T 81 T
BT Wit W BT fezm ?

-‘ — -
e "'\ o -
v A A O \
1 L E N :
] - ! ‘
’ \ [ I "‘ | r
! “ | J' - | J
- "‘-h’ i ds ™

Ops: A.
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Q 9 Read the given statements and conclusions carefully. Assuming that the information given in the
statements is true, even if it appears to be at variance with commonly known facts, decide which of
the given conclusions logically follow(s) from the statements.

Statements:
All flowers are beautiful.
Vaidehi is beautiful.

Conclusions:
I. Vaidehi is a flower.
I1. Some beautiful are flowers.

f3q 7q AT 3R fApuf Bl waHYd® ue| ag HAd g b Bl | &I 1€ STHeRI 9 &, ¥el 8 98 9T B
I T qAt I A= Tedtd gt &Y, 97 o} 1 Ay 77 fest § I B I sy weAl 1 difdhds B I IR0
P &l

B
Tt Bel, Y 2
9ET, YR B

fAreep:

I & Bt Bl
II $8 &, Bl 2

Ops: A. Only conclusion II follows.
Ppact ARy 11 31JER0T BT Bl
B. Either conclusion I or II follows.
T dr fAspe I AT 11 37ER0T T &
C. Only conclusion I follows.

el AP I 37 HOT BT 2

D. Both the conclusions follow.

AT fAsep 317ER0T BYd 2 126



Q 10 Select the correct water image of the given combination of letters.
DFNZSR
T MY 378R- AN BT o § Ffid 98t wfdfda gafid o3|
DFNZSR

ossA - QdUNSCHB
“ DEZN@EZEB
““DENXeHN
> DEWSZEHB

Q 11 Select the correct option that indicates the arrangement of the given words in the order in which they
appear in an English dictionary

Ig Wel fdehey g SiT f&U TV 2reai & 39 w4 ol S2IfdT & 57 67 H d 37t 2leceprel H HIS[E 81d B
1. Petitionary

2. Petitioning
3. Petition

4. Petitioners
5. Petitioned

Ops: 1,2,3,4,5
4,1,2,3,5
3,1,5,4,2
3,1,4,5,2

o 0w P

Q 12 Select the option that is related to the third term in the same way as the second term is related to
the first term.
3 fahed &1 T8 B Sl TR U< I 34T JhR Iafod ¢ o UPR IR U< Ugel Ug 3 Heifad 2|
BACTERIA : EXFWBUFX :: WOUNDS : ?

Ops: A ZLRQGV

B. ( YLRQFV
C. ( ZLSQFW
D. () ZRXQGV
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Q 13 Study the given pattern carefully and select the number from among the given options that can
replace the question mark (?) in it.
CQ TT¢ e ol wHydd 3read &Y 3R QU 1 foebeul # I 39 ST BT I B Sil 394 JAdrED g (?)
&P Y W 37 Fhd! gl

48 63 56
42 1884515215178
14917
Ops: A 21
B. 18
C. 19
D. 17

Q 14 Select the letter-cluster from among the given options that can replace the question mark (?) in the
following series.
3T Y fdepeal # & 39 31eR - g BT I HIfSY S [FAfcfEd Y@ § A (?) & WM W 31T Jbdl
2l
TSF, RPJ, PMN, NJR, ?

Ops: A. JFV
B. KGU
C. LGN
D. LGV

Q 151n a certain code language, 'CROWD' is coded as 23415924 and "TRHICK' is coded as 162491997.
How will 'FRUGAL' be coded in that language?
Ueph fAfeTid e HTHT H, 'CROWD' T 23415924 & ®U H Ppedg fobam 71 € iR 'TRHICK' @1 162491997 &
BY § pedg fbar T 21 34T 1T | 'FRUGAL' 1 fdbd ®U H pedg fbar Sram?

Ops: A. 1226761821
B. 1521012291
C. 1512021921
D. 1221021186
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Q 16 Saloni is the daughter of the only son of Kartik. Nirupama is the mother of Deepak. Yamini's only son,
Ankit, is married to Nirupama. Kartik is the paternal grandfather of Deepak. How is Kartik related to
Ankit?

FAHT, P b Thald d¢ Pl ot &1 THUHAT, U Hf 7T 81 ATEAT & Tbald d¢ 3ifdsa Hr oMl FHeuar &
€8 81 PIfdes, Euc & aral 81 Pifdes b 3ifcd & o1 Heyy 82

Ops: A. Brother
RIS

B. Paternal uncle
CIEl

C. Son
T

D. Father
Gl

Q 17 Six letters and symbols, H, h, I, @, % and $, are written on the different faces of a dice. Two
positions of this dice are shown. Select the letter or symbols that will be on the face opposite to the
one having 'H'.
T Y P I Befedl W 8: 38R IR TAB H, h, I, @, % 3R $ foi@ 77 &1 o9 gy &Y < f&Afaar fears
TS 1 39 31&R AT Ycltds BT TIT B Sif 'H' aTel Belds b fIuid Tetds TR 8|

% | H h.@
Ops: A $
B. %
C. h
D. @

Q 18 Select the option that is related to the third number in the same way as the second number is related
to the first number.
39 dhcq BT T PIfoiy, oD dRIRT TEAT F g8l Fed &, ST T HAT 6T Ugedt T&7 3 2
223 :350::519:7?

Ops: A. 736
B. 645
C. 687
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Q 19 Four letter-clusters have been given, out of which three are alike in some manner and one is
different. Select the letter-cluster that is different.
13T U TR 31eR-GHEl # I o bt 7 fosadt bR & TAT € 3R Ueb 3197Td &1 39 39 317 378R-THg Bl
I B

Ops: A. SPK

B. (JGT
C. () PMN
D. (GTQ
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Q 20 Select the figure from among the given options that can replace the question mark (?) in the
following series.

o Y fasedl ¥ I 39 3P BT 9 &SIl [HH W1 § JeTdarad g (?) & T W 37 bl 8l

Ops: A.
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Q 211n a certain code language, 6219 means 'Sachin is a cricketer' and 2646 means 'He played from
Mumbai'. Which of the following is the code for 'Mumbai is very famous'?
U fAfeTid e ST ®, 6219 &1 318f 'Sachin is cricketer' € 3IR 2646 &1 313 'He played from mumbai' 21
'Mumbai is very famous' & feig fAmfcifed # & fdod ge &1 wiT fdsam Si?

Ops: A. 7945

B. 6246
C. 6285
D. 2458

Q 22 Select the set of classes the relationship among which is best illustrated by the following Venn
diagram.

aif & 3 HHIY D1 I BN ol 2eal b & b1 Hae ([HH 99 3R gRT Fafad BU 4 gerfar T gl

©

Ops: A Fathers, Brothers, Males
far, wig, geu
B. Grandfathers, Fathers, Males
&1el, fudt, gey
C. Literates, Engineers, Farmers

&R, SR, fsam

D. Mothers, Aunts, Doctors
o et o
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Q 23 Gaurav exits from the backdoor of his north-facing house and walks 25 m straight, then the takes a
left turn and walks 36 m, then he turns left and walks 47 m. He turns left again and walks 36 m. How
far and in which direction is he from his house now?

TRE 3197 39 =R & U8l Aot I d1er (bt 8 fSyepT J@d gk 3R &2 & 3R 8 3R 25 m T <efdT &,
i g aT¢ oaT & 31K 36 m =T £, I8 R aT¢ oaT @ 3R 47 m T #1 a8 R F a1¢ gear & 3R 36 m
TIoTdl 81 g8 370 TR et g 3R fbgy feem # € 2

Ops: A. 22 m, North
22 m, 3TN

B. 11 m, North
11 m, 3

C. 22 m, South
22 m, &feror

D. 11 m, South
11 m, =faror

Q 24 Mohit and Sudesh bought pens and notebooks from the same shop. Mohit bought 3 pens and 6
notebooks by paying an amount of ¥180. Sudesh bought 5 pens and 2 notebooks by paying an
amount of ¥116. How much did Mohit spend on buying notebooks?

Aifed 3R J&or 7 TP & g A et 3R Bifoar W Aifed 7 T180 T 3 FHaId 3R 6 PIfual TR |
Faor 4 ¥116 @ 5 et 3R 2 BIfudi WIS HIfgd 3 BIfuai BRied W fbd Bud & foby ?

Ops: A. 384
B. 3138
C. 3122
D. %115

Q 25 Select the number from among the given options that can replace the question mark (?) in the
following series.
f&T TV fdeheal # & g Fwar AT S HHfefeEd 9uit § geTare fmg (?) & I W 31 Jebd! 8l
5, 18, 70, 278, ?

Ops: A. 328
B. 298
C. 1110
D. 592
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Q 26 Arrange the following words in a logical and meaningful order
1.Monkey 2. Elephant 3. Rat 4. Fly 5. Lion
fAfafEd el @ T arfde 3R wrefe B Fafed difey
1.Monkey 2. Elephant 3. Rat 4. Fly 5. Lion

Ops:A. ( )3,4,1,5,2
B. (4,3,1,5,2
C. (14,1,3,2,5
D. (3,4,1,2,5

Q 27 Select the option that is related to the third letter-cluster in the same way as the second letter cluster
is related to the first letter-cluster.
GATE: HXYX: : SINK:
39 fae o1 Ia HIGR o T -7 37eR THE 3T TR Feifod & fS9 TR gERT 31gR-TWE, Ued 38R
TE I Heferd 2
GATE: HXYX: : SINK:

Ops: A TGSE
B. TETD
C. TESD
D. TFSD

Q 28 Three of the following four words are alike in a certain way and one is different. Pick the odd
one out.

fAafafad ar ol § § @7 e ffedd bR I T I9F § 31R Ua = 21 {1 &1 [ FifSi|

Ops: A Roar

B. Hoot
C. Bray
D. Amble
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Q 29 1n a code language, BLEND is written as ENHPG. How will WINNER be written in the same language?
U e HTHT H, BLEND I ENHPG foi@r STrar 21 33t 1S & WINNER @1 fdod UebR ot S|

Ops: A. () ZKQPHT

B. () ZKQPHU
C. (  YKQPHT
D. () ZKOPHT

Q 30If V=44 and FAT=54, then how will you code LATE?
gfe V=44 3{R FAT=54 &, a1 LATE &T e T BIT?

Ops: A. 76
B. 110
C. 54
D. 19
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